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You have four choices for each objective type question as A, B,C
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q-Nf’-1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

D c B A QUESTIONS /=ty Sr.No.
7.1x10" years |. 7.1x10" years 7.1x10% years 7.1x10% years | The half life of 2 is: I
Jv7.1x10” Ju7.1x10" Ju7.1x10° ‘Jl/7.1><1()8 _‘LJUJLJ ;35(]("»"14

T d d £, I, The magnifying power of simple 2
1+ _J; 1- "J}' 7 "f-’ microscope is:
: ‘ ‘ -ﬁ;émg.@u&? J..,P Wl
Wavelength Amplitude Frequency Speed In a vacuum, all electromagnetic 3
sy, A ok e waves have the same:
s L R0 S
Amplitude Wavelength Period Frequency The loudness of a sound is most 4
2k 28, A b closely related to its:
ey AN
The object The image. The speed of The focal The index of refraction depends on: 5
distance distance light Iength/ et AP T
LA LALE) AL L
Five joules of work is needed to 6
shift 10C of charge from one place
to another. otential difference
betweer will be:
IOV 5V ?.V OSV o L@/”&—ju{’f@/‘gélocu‘g
o Q%QLDU}»UL;J‘Z?/ szl &
/g/\% P Kt pi s
=y What does happen to the intensity 7
@ or the brightness of the lamps
Cannot be Remains the Decreases b creases connected in series as more and
predicted sa'me. ) ‘LJ 28\ & e bl more lamps are added?
et by G0 LSSt ize Bl s
&;.ng)g&..:ﬂ&}j wlule
N The turn ratios of a transformer is 8
)
V.=V,/10 | Ng=10N,~| Ny=N,/10 I, =101, | 10. Jtmeans:
: 910 @#Jw.fgé//\;ifiﬁ
AND gate can be formed by using 9
NAND gates NOR gates OR gates NOT gates two?
u‘:'-f ol u%fzt J:‘-’CT uaf <4 2pdl (15 wl izt?qfdb'*"i Jif»c,w(
. ?+L-;.C m_}'l b
Control unit CPU Memory Monitor The brain of any computer system 10
..b‘g.'d:/""/ !.'Létf St V4% is: -c"..(;/bb/f"/){-{d{(f(
The half life of a certain isotope is 11
None of these One eight One quarter One-half { day, what will be the quantity of
LI e p 1 d 2 Jz_!gn(f)f the isotope after 2 days?
8 el IS S S
s f il s

Sec Hz Meter joule The SI unit of amplitude is: 12

b by X Jz eSS
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NOTE: Write same question number and its paris number on answer book, as given in the questiou paper. e L gty S .@wf}zmﬁid!ﬂﬂh&@l-’u‘ﬁ
SECTION-1 i@ N TN —]—27

2. Attempt any five parts. I 10=2 x5 .é.},ig,ymﬁmégc_,df 241y

(i) | Define amplitude and write its unit. gy S S| ()

(i) | A wave moves on a slinky with frequency of 4Hz and o.dm 55 v aHiz SIS w1 dn STyl (i)

wavelength of 0.4m. What is the speed of wave? gk Jp -« '

(iii) | What do the dark and bright fringes represent on the screen sl A IS k. Jh’/_',ufféJ 2 (iii)

of ripple tank?
| (iv) | Capacitor blocks D.C current but allows A.C current to pass P P2 Y 117 el SIS o’:‘/’./f (iv) B
‘ through a circuit. How does this happen? ‘fg_b':ﬂ_)).f u!-ﬁ:.(z)e;/}"
‘ (v) | Draw electric field lines for two opposite and equal point A1 S i 5 7 A b1 I 23 )
charges.
(vi) | Write two basic characteristics of charges. -u'fj eher? Stend7 s i)
(vii) | Why does the resistance of conductor increase with ¢t musd SuiEU S, e gl | (ViD)
increase in temperature?
(viii) | Write the analogy between battery and water pump. -:’«"QJU S S | (viii) |
3. Attempt any five parts. 10=2 x5 &7 p&iﬁﬁlilékpéf BA‘UL
() What is the necessary conditions for the production of Sl nin Ve 7511 /‘djuuj il L Siss (1)
sound?
(i) | What are two uses of ultrasound in medicine? _ L .:Hut-iff»z:/‘:wfﬂtuﬁulgé_g/‘ Gy |
(i) | Calculate the frequency of sound wave of speed 340ms™ k. #31340ms™ kg S 5 b S ase (iif)
and wavelength 0.5m. AN -¢-0.5m L

(iv) | What is the difference between RAM and ROM memory? &@)yﬂ; St ol o (iv)

(v) | What is Flash Drive? (0)v S )

(vi) | What do you understand by word processing and _ @s@vt_f \..;fuifa_/t.,ﬁ..,@%nfuap 3458 (vi)

data managing? 0(\

(vii) | Define Carbon Dating. A ij\% L PEBek | (vid)

' (viii) | Define Isotopes. Give its example. . 5\\/ { el FEASAT | (viii)
4. Attempt any five parts. &ﬂﬁ/@ ) . 954 .:«Luz&i!migz_éf 4
(i) | Define resolving power and magnifying powery Ey I 60% b Ehy 0)

(ii) | Define total internal reflection and criti 2 gle. E/ Jﬁ’fﬂﬂuﬂﬂfﬁj J (i)
Lﬂi) What is the difference betwee Y;r}d virtual image? 7 fe Y UL/»L@J{ ;;}mr‘jf J (i) |
| (iv) | State Faraday’s law of ele@&q\r\nkgneﬁc induction. A b asapm e 4 | (V)

. (v) | State Lenz’s Law. ' IR [
! (vi) | How the electrons are deflected by an electric field? ?4.8x4ﬂ s fha s LI | (i) |
L_(ﬂ Write the essential components of CRO. Ly s /"L(CRO);,;C:'J:IQA;;{ (vii)
(wiii) | Write the truth table of NOR gate and draw its symbol. et bl NOR | (Vi)
| SECTION-II (v
NOTE: l Attempt any two questions. I 18=2x9 74 w&lﬁﬁaufrnc,éf 249 |
5.(A) | Explain Coulomb’s law of electrostatics and prove its F % J Sz L[/ eolas Syt £ Jé*/,}.al L .,J/ (-5
mathematical form. 4 St

(B) | A current of 1mA is flowing through a wire for 1 minute. t,uf Ew(g’\ffut/’b —G'ch{\-f/'/ ¥3mA A LI ALl )

What is the charge flowing through it? R S fej
6.(A) | What is meant by electronic mail? e et F e $I LU Ses Ve Jouo | (-6
Write any three uses of it. 4 s
(B) | If at Anarkali bazaar Lahore intensity level of sound is U9 580dB Jo it g J;/:U;!Jg(f L o)
| 80dB. What will be the intensity of sound there? 5 ‘-'J x{M‘J%v
7.(A) | How does work house safety alarm? Explain. 4 -éwu)?c‘:—t‘/rfépmt?! AT (T
(B) | A step down transformer has turns ratio 1 : 100. AnA.C Sy g 17100 el skt /zBJl}usis.f}T{l (e
voltage of amplitude 170V is applied to the primary. 1f the GAE T imA LS U AT A e e 1706 »
current in the primary coil is ImA what is current in the 5 -g,{(:l’” wSeSif
secondary coil? L - S ——
18-2024(1°-A)-60000 (MULTAN)
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" You have four choices for each objective type question as A, B, C
and D. The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Q-NO»I
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /2iir Sr.No.
: What is the power rating of a I
lamp connected to a 12V
source when it carries 2.5A
60W 30W 14.5W- 4.8W current?
sl d’f{.‘h{lézé_m el 12V
| )25 Ac SNBSS
} s
| In vacuun In air In water In metal The speed of sound is more: 2
; i als ui‘[}g LS _:c‘-ém)yj;; T
1 If the current in a wire which 3
‘ is placed perpendicular to a
Will be zero Remains the Increases Decreases magnetic field increases, the
| Sn ¥ same Jey & ﬂrr force on}the wire is:
: St i @u’lﬁlenu{JU’:"uU?u@?ﬁ
g Hudielien SapSeSlng
b i /S
Both of its inputs | Any of its inputs Any of its inputs | Both of its inputs of a NAND gate is 4
are “1” is “17” 7 are®0” hen:
B=1 sA=1 B=1 A=l yig Ly" B=0 A@)\Q Nnpragesifelss
External mail Electronic mail 1ai ;;,ﬁ ‘=Emer. aail | What does the term e-mail 5
S Ry shy e o > 4 stand for?
- <\/§ te Py S-S
20 When Uranium (92 protons) 6
_ / ejects a beta particle, how
93 protons - 91 protons 89 protons many protons will be in the
545493 91 591,89 remaining nucleus?
et Sub A Gy 9Dt
?L(z.tgu‘ff)!ﬁgf 2 Lt
The device which converts )
mechanical energy into
Electroscope ~ D.C motor A.C generator Transformer electrical energy is called:
—F P AR ey o B S G Sk 2 gt
YA
The relation between v, f 8
P fi=f = j7l and A of a wave is:
= v = LJA=Y _— el
V =7 ’ uyuﬁiﬂ.’gwlg‘v{/(u’uw{;_’:y{l
o
Chemical Mechanical Thermal Electrical Which form of energy is 9
S = S K sound?
g A
41878 AD ZI877AD | %1876 AD 41875 AD | Alexander Graham Bell made | 10
a simple telephone model in:
-&tcdﬂb/u;(_fo:l/i.gﬁ("l,f/kff
Upright and Upright and real Inverted and Inverted and real | Which type of image is formed| 11
virtual Fosiel virtual Fomd by a convex lens on a screen?
S0 & Siamd et ISV L F A
Repels a neutral | Attracts a neutral Repels other Attracts other | A positive electric charge: 2 |
c.harge ch‘arge positi.ve charge positi\:e charge el Sz o
N O R A a2 DA IR ek et ST ey
20(Obi)(**)-2024( 1%.A)-55000 ( MULTAN)
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NOTE: Write same question number and its parts number on answer book, as given in the question paper.

SECTION-I it

o peyr L dd | 24Dy

2 Attempt any five parts. ] 10=2 x5
(i) | What are damped oscillations? How damping progressively S u":"l s ..5;'.’.* Se s Ve Pt} @)
reduce the amplitude of oscillation? S‘g.&f f £Eoal2
(i) | Distinguish between longitudinal and transverse waves with UIE Usivt SO e L 3Tt s J;‘:}f 4 (ii)
suitable examples. el AL
(iii) | A wave moves on a slinky with frequency of 4Hz and iﬂ:’;_u sdHz gk E2) dond S c?r4‘55dh (iii)
wavelength of 0.4m. What is the speed of wave? U/ (}"iﬂfzs-q_/" 0.4
(iv) | What is meant by electric field and electric jntensity? fe il sl S A i S il (iv)
(v) | In what direction will a positively charged particle move in an e/ J e v Se iyt S A (v)
electric field?
(vi) | Differentiate between electric potential and potential difference? VoY Euo) bt S S <y S (vi)
(vii) | What is the difference between D.C and A.C? e LS B i) wha | (il
(viii) | Can current flow in a circuil without potential difference? ?:_CC,/,—"L 7 A ':;;*Jf Sl | (vidd)
3. Attempt any five parts. 10=2x 5 Y cuzlobieds | 3y
0 Calculate the frequency of sound wave of speed 340ms™ and 3 b Gy s i g o oS S S ®
wavelength 0.5m. __-=05m a@/; #1340ms™
(ii) | On what factors loudness can depend? Write its names. : .u:"ﬁ(t!_u" b iu‘:w’ 154 S5 (ii)
(iti) | Write two uses of ultrasound. ' -k,r/ J ey EA M (iii)
(iv) | What is the difference between Primary and Secondarv memory? S MRS SIS A1y | (V)
(v) | What is meant by information and communication teuhnology'? ﬂ@ﬁ@:‘w u"% L v)
(vi) | Which is more reliable floppy disk or a hard disk for” OWLJ;QB!ALL//VQ} (vi)
data storing? se sl
(vii) | What is meant by Half life of an element? 0/\235 \ St P e I sechis” (vii) |
(viii) | Write down two hazards of radiation. 2 e poe S L Pk | (viid)

4. Attempt any five parts. | 10%\5 ,i%‘/ .y juylzélylﬂgr.df 4y
(i) | Define reflection of light and also write the gaf@\m\)types of L,»ulu/a WSEwmgEs S uﬂ S&w 0
: 0

reflection. A s e
(i) | What is meant by regular and irreg @ﬁ&%i\oﬁ of light? "s%,;: o e OISl ol LGS (i)
(iii) | Define Snell’s law and write itsfl&yl N s i sty WLL | (i)
(iv) | What is meant by magnefic{tesanance imaging(MRI)? K /Lfa..mwmﬂ (iv)
(v) | Define step up and ste; 1 transformer. -g,-:._g;‘J P R Pl )
(vi) | Define mutual induction. _Ew S e | (i)
(vii) | Write the name of parts of cathode ray oscilloscope(CRO). -_eréu}".):—g’ck)fé—lj);"{ (vii)
(vii) | Define electronics. LSS A | (i)
; SECTION-II v
NOTE: ‘ Attempt any two questions. l 18=2x%9 l &7 ey letrneds v
5.(A) | With the help of diagram derive the formula for the equivalent b, }{é»‘»éﬁoﬁﬁaﬂz )’J’ !ﬁ—{_,md/‘ﬁ (-5
capacitance for a parallel combination of a number of capacitors. 143 -u/.zslur,lsw'” B /d’b g
(B) | A resistor of resistance 5.6€2 is connected across a battery i Liet e 5.6Q 00 S il ()
of 3.0¥ by means of a wire of negligible resistance. A e sl | e i AL LS5 S3V sl
current of 0.5.4 passes through the resistor. Calculate: el iU @) - Fnte s /054
(a) power dissipated in the resistor. 5 U7 (:“‘/.’gdué—m,gf-\f Sz (b) -s,:/(
(b) Total power produced by the battery.
6.(A) | What is meant by flow of information? Describe the u(,» S sk J frf Lol Seilp e e L < o1 (-6
_ | function of each part with simple diagram. ~gmeols
(B) | If at Anarkali bazaar Lahore intensity level of sound is U195 80dB s (aaddBl sl 2 mumd’ iyl fe)
80dB. What will be the intensity of sound there? 5 ‘.‘J ngf‘_,—m-\.-)-*-\u»iv
7.(A) | Define total internal reflection with the help of diagram. Sute sa Jrlf WS e S oSl ) J Sl (7
Explain. 14142 S eoles
(B) | A step-up transformer has a turn ratios of 1:100. An $ /'u.f l-g-1:100 el ikt //k/"l}ur,—»".f f G
alternating supply of 20V is connected across the primary G T Ll o 32 B L uw Sed £ 20V S i
coil. What is the secondary voltage (V) ? 5 gl (Vs) &

20-2024(1%-A)-55000 (MULTAN)
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objective type question as A, B, C an
n number, on bubble sheet. Use marker-or pen to fill the bubbles. Cutting or

T

Note: You have four choices for eack
Fill that bubble in front of that questi

filling two or Tore bubbles will result in zero matk in that questio
not filled. Do not solve questiong on this sheet of OBJECTIVE PAPER.

2023 (1-A) :
SSC PART-II (10% Class)

OBJECTIVE &*y -

A

(Mq—:xf ‘) JP
o ar 15 = &

12 = AF
2ol DACB A a2 b gl v s e

120 Sozar S Hiys 4/ J.«'QL-//,J’ Usdonsly) el
dD. The choice which you think is correct,

NN TN-1-23

n. No credit will be awarded in case BUBBLES are

AU

QNo.1
(1) How does sound travel from its soutce to your ear? ¢ ‘?‘.‘:ﬁ‘r; LE e Ll B (1)
(A) By changes in air pressure - ,J# Pl Lin
(B) By vibrations in wi ed or strings o vl Sl h
(Cy By electromaghetic wave SR SR g
(D) By infrared waves a2 i
(2) Speed of sound‘at‘ roofn temperature is: e S E Aen @)
“(A) 350ms™" (B) 330ms™ (Q) 340ms™ (D) 320ms™ )
(3) The unit of intensity of sound is: el t¥ e J};ﬂr (3)
) wm™ ®) wm~ (C) Wm S\(DY Wm™
A/ .
(4) The turn ratiq of transformer is 10, it means: | @ 10 erlSnAL i li (4)
: N, / V= VP,
(a) ls=107p (B) Vg N%O g ) Vs=" 40
(5)  The lqgical operation performed by PN L P vosfeed s (5)
this gate is: o\
(A) AND X - (B NOT .;,@ C) NOR A4 (p) OR
(6) What is the'power rating of a I cnnected 1 g Su 0 ALt ehl Ltpauwd 12V (6)
12:‘Vvsource when it carries 2 f ‘ wrptod 258 ail
(A) 48 W (BY 145 W (C) 30W (D) 60W
(7) The correct relation bitween focal length(f) _'4_,.;';’ s B o /I han (D PN ING)
| and Radius of-curvature(R) is: ‘ Y
W f=%; ® =R (© f=2R @ f=24
(8) What does the :terx;n E-mail stands for? ?4--5"'(«1// J:'_L;‘l; (8)
(A Emcrgcnc.y.m‘ail o A (B) Electronig meil J.f:/-ﬂl
(C) Extra mail " 1 /J..l _&D) Exterdal mail ,,k-'J'/‘/Q
is; | v ©)
0y ~ Halflife of I-nylrogcb is: _ ‘ o) _;.,85 , ;
; - : 30 yéars . 85 years
(A) 12.3 years (B) 5730years  (C) ‘ o g
(10) (chw manyycdmponents of a CBIS have? - fert S LACBIS) A FHwikaled (10)
(A) 02 (B) 03 (c) 05 (D) 06
(11) ~ The relation between V. fand A ,%Jl"’wy,,g: A s o f kv Fudpetl (1D
of a wave is: 7
p i = f
(a) vi= 4 (®) fA=v (@) v= ’l/, D) '~
(12)  When did Christian Huygens invent the pendulum clodk? VO A Sk v/ (12)
' [C) w1856 AD (D) we #1956 AD

(A) wmb1656 AD

(B) wmee1756 AD
18(Ob)) Tr T 7Y)-2023(1"-A)-65000 (MULTAN)
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 PHYSICS GROUP-I _ GgslS o
[IME ALLOWED: 14§ Hours 117N~ 1723 P 1:5 - :

| A5 =
MAXIMUM MARKS: 48 SUBJECTIVE c’é"’ ’_& 48 = /?Jf
NOTE: Write same question number and its -Q-Z/JJU-‘:{/'.‘"J’I R A EA NS LA TR

parts number on answer book. as given in the question paper.

SECTION-1 Ui »

B

2. Attempt any five parts. 10=2 X5 - e Limbie 32 A
{i) What is meant by Restorin‘g Force? o “F— A e @)
5 4 VY-

(ii)  Find the Time Period of a $impl¢ Pendulum 1.0 m long. YY) f‘:L‘H Wil £ 0 2 (i1)
(’1.11? How does the thxckﬁess of a lens affect its focal length? te 3/ A 2B Ei e D
(iv) Define Power of a lens and write its unit. S s S PSS (iv)
(v) What is meant by Nearsightedness? ¢ 4,:, el /;;’ - ™
(vi) Draw the symbol of OR gate and also v L P s e S J‘OR (vi)

write its Truth Table.

(vii) What is the difference between Analogue to digital . 53k 22 Ll ) JF bt 2057 S5 5 S (vii)
converter and Digital to analogue converter? ' ) )

(viii) Define Electronics. /f\ _‘_, S S (vii)
3. Attempt any five partsé. 10=2 X5 /fuyti!.iiléba.df.s/dw
(i)  Defirie Sound and write the necessary conditions 9, Lo Lt oy St P st (p

for the production of sound.
(ii) Define Intensity Jf Sound and write its unit. 7\@ M 26 iy A P S s T J/; (o (i)
(iii) Calculate the frequency of sound = @ 2B, 0 340 m” L St g St e p S ot (D)

wave of speed 340 ms” and w S m.
(iy) Write down Coulomb’s L expression. 2 e il S SO (iv)
(v) Inwhat direction wilk-4 p t'wely charged | Wy /7 Fosrr oS 5 S dg 4t RIS S {v)
particle move in. ic field? |
(vi) Define Capacitance and its ST unit. ‘ St A ST AL mu,:({ (vi)
(vii) Write two advantages of e-mail. 7 - y wa Hindl JE 6 (vii)
(viii) Deﬁne cel] phone. . Sy P Susge (vidd)
4. Attempt any five parts. 10=2%5 .y ,?uwémébc.,éf SR
(i) What is meant by Qhmic and non-Ohmic Conductors? o asl /\/ A sl L @
(i) Calculate one month cost of using SOW energy 710 5.6 50\»{ O f L e LT S (D)
et dly BRI el it
G e
(iii) What is the function of Ammeter and Voltmeter? o Z_fr(u/ e adum gt (D)
(iv)  What is meant by M.R.I? tost Ve MRE V)
(v) Dcscrifve Fleming’s Left Hand Rule. Sl PP A W
(vi) Which has rnore Penetrating Power; an Alpha P Jstml b el Lot JQ‘ngl (vi)
Particle or Gamma Ray Photon?
(vii) What is meant by Nuclear Fusion? St i it Fp vx?x'J
(vili) Define Isotopes and give one example. oLl S FS AT (viil)

(i)



(£) N ZA 1 =23
SECTION-IL . 5.2

NOTE: Attempt any two questions. 18=2 X9 gf/ e .....«yf.:‘.f.umruc..df i
5.(A) Explam refraction of light through 24224 o eriens erfguu"" ,Jg‘,,.z_..m_r;/ (.5
prisnt with diagram.
(B) What is the wavelength of the s s Ebipsel - b Sy :.'-&i VJ 00 MHz o gl NS
radiowaves transmitted by an \ s 2Lt ot LI =108 6
FM station at 90 MHz? s - BRIV Spoptaoal e =10 h
Where 1M =10°, dnd speed of
radiowave is 3 x 10%ms™
6.(A) What is meant by Secondary Storage Memory? OB A S e S sl St E i libe  (LI)-6
Describe the Magnetic disks and Hard qislc. . Rl e
) 4 -g,[/c.'a-"l—’n(!
|
S W Ll SE JeGE 1.5k e o 35em sl 2kHz i? /Jtr&'l{’u:lu‘*:f ,’Jmivuﬂ ),
(B) A sound wave has a frequency of 2 kHz and waveldngth 35¢m, - )
‘How long will it take to travel 1.5 km? QCQ%)\
| O
A\O
1+2+1 s J’r.;*"‘ﬁ:.f..ng;ﬂ_@ SNty A2 v i?..&,«.?—*!.i’ g “q:_i.f.«lk‘r (N7
7.(A)  What is Solenoid? ]'Explam the magnetic field of . How can we find tl
direction of magnetic field produced in the Qo i)
aFiElried g .é‘v[.iéﬂ; 250 Viimd 4kW mh100W o ()
z/JurwI/uimé:dWi () wﬁisqf,.a-u"u" iz (2)
(B) A 100 W lamp bulb and a +k® \water heater are cormected to a 250V Eupiblv

Caleulate: (a) the curre

18] which flows in each appliance
(b) the resis

¢ of each appliance when in use

18-2023(1°-A)-65000 (MULTAN)
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iy Azl A2 - ) - )
k{f ;— u.?;_f Lf.m.khfdb'.i-e-li. v#“-rd':\-”fl‘:ﬁ{z:'-l:—-'f»d"ﬁ{dﬁ}‘ﬁ-u??_'u“-.:EL;!C:B A R H e J
- S peiyy, /.‘Jlf e _f,; id)dj’/ g ; e SR e i,
LxSadd PR Pausr S Tzis i Knid 2] !
ote: Yo i : . : hr. . : ot et 1l B H S Ll P28 A itn 13 L/ f..‘, i g% " ;
u have four choices for each objectivg type question as A, B, C and D, The choice which yiu th?nk i:té:c; e

i1l that bubble in front of that AT utt:
hat it question number, on bubble sheet. Use ma ker or '
‘ 1 ! ent i
:loerslil:ubbles vgill result {n zero mark in that question, No grecdit will be aa'ardedanrzaseﬂgétglgugbw& e
ns on this sheet of OBJECTIVE PAPEI}. ' Rsma Bl SR Rsie
1.No.1 ' '
s 3 . ] -l/.jd"
(1) Which is an example of longitudinal wave? oy P10 '
‘ . -+r t““ v ’u
¢A) Sound wave gk (B) Light w (5 i0 W ) WU o
73, Light wave #dJ «c) Radio wave ;4 (D) rater wave g0 U
9

(2) The sound intensity level of whisper is:
- ! per is: ,
: | RPN Al 1 1
(A) 10dB ' (B) 30dB (C) 40 dB o F be/ (2)

3) Which of the following quantities is not ednst & il i 875 (b
changed during r‘efraption of light? o wawlm,u!.?wuu::ﬁw s ()
(4) Its direction ard (B) lts speed A
(¢) Its frequency. gk S (p) lts wavelength £yl
4)  The value of Refractive Inde: f air is: AT TS
' efo air is end § A pE 2L (4)
( (A) 2 (B 3 (€)1 ~D) 4
(5) A positive electric charge : Q(%(g_ S ulile 2o 3 { L (5)
: Ll A Al
(A) Attracts other posiive c}ia.rge | %W%_/&? i . O@

(B) Repels other positive charge ot S, Soipth é&\\/ 7
), Atiracts a neutral charge gt Ak - g.@
(D) Repels a neutral charje et Zipie
(6)  Anelectric current in cof ugtprs is dye foThe flaw of: _+;,‘,f51¢£_yf LA (6)
e (B) N¢§ative ions )ﬂrf

(a) Positive ions iy s
Vi - N
(C) Positive charges 83 (D) Free electrons s, #1T
?.;,.;/»u&b‘r)[y‘:—-')»;vé.f‘g‘ (7)

(7). Which statement i8 1 t the magnetic poles?
/’8:_)4..0? (B,) Like po.es attract wz,,’j-’“:/‘g’;g .L,Cl
h other Lt Jf;¢}:4,z..‘ »..T(f?;;s.i,v't" '
L &t 1) 2ol Sy &
b xa,-wu/‘-ér.-.-,.i}‘ AS

(a) Unlike poles repel f &

(c) Magnetic poles do not effect eac

not exist
W E v ®

(D) A single magnetic pole does

(8) The pracess by which elegtrons are emitted

by a hot metal surface is known'as:
(A Bo;ﬁing Sy 1 (B) Evaporation .,ﬂ;.;r.sl

(C) Cdndu,cticlm dy’ pg | (D) Thermioni¢ emission U;’AJ){ 3

In gomputer terminology it} ...g_h,]’»lb‘b’cr%lﬁ‘uﬁ;}’-ﬁwfrf ©)
A (p) Large dpta Gedpl)
L2A1 (10)

formation means:

€]
(), Any data &3S Jf . (8) Rawdata esPs  (¢) Processed data LIt
4‘ element with different: — _2.F o E st k] Lasekiptl

(10)  Isotopes are atoms of sam!
. (B) Atomaic pumber  ASH

(D) Number of glecirons WP SR

ripad /1)

?fi,g::uf},{sb’wtnf(‘:gw?;ﬁpf ok S

() Atomic mass JhH

(¢) Number of protons eI
(11)  If the mass of bob of a pendulum is

increased by a factor of 3, the period of

the pendulum’s imotion will!

'(A) be ingrepsed by a factar of 2 €l st (B)

A smmanead By a factor of 2 (.ugmf o (D) be deereased by a fact

.y
'Ipvﬂ’

remain the »ame . .../,u’} wi's
ot of 4 s'_',.-g_uf e
o o -~

s e



2023 (17-A)
SSC PART-II (10" Class) g

PHYSICS (GROUP-I) Umgrl) S
IIME ALLOWED: 145 Hours N7 7A/- 223 & 145 =
VMIAXIMUM MARKS: 48 SUEJ'EQTLVE 240 48 = AJ
NOTE: Write same question mmeer and its | ..4_@»&.3440*[ ﬁ,{;@y:} Z»'/Jiru‘?;a&ﬁ}tﬁ-:«bﬂ

parts number on answer qook, as given in the question paper,

SECTION-1 Jil»

2. Attempt any five parts, 10=2X5 s linbleds Ay
(i) -Prove v=fi, _— g fu“‘ @)
(i) ' Define Damped Oscillations and give one example. oL S P SRS i (if)
(iii) Draw the Ray diagram for the virtual image formation 1ii
in a plane mirror. 'ﬂ‘rum"JJU’L’JﬁU!”U"/ ‘/‘ G
(iv) What is the d1ffergnce between near point and far point? Dt N ) B (iv)
(v) Under what conditions will a converging lens form 4 .7 ; " “ 8 ,,-,1‘ e s (v
iris ] T 1'4'._37!45&)4»..}[.1.1!/;/, b )
(vi) Draw the symbol of NAND gate and also £ f,,;u"f S8 Sty (vi)
write its truth table. - o
(vii) What is the function of electron gun? fa H, S A (Vi)
(vili) Define Cathode Ray Oscilloscope. .@‘ y 7 Jw Ay 4 (viil)
3. Attempt any five parts 1072 %5 Cﬁ/ qw&méu.éf.s/dw
(i)  Define loudness and write the name of factors on J J«m LIty S FARY 0]
- which loudness depends. .
1 -4—(5}
(i) What is audible fiequency range for hum C%js SV L J,L(u;.,g S hseee SO (i)
(iif) Calculate the intensity levels of the udible sound. J‘g d ,J‘d AV s S S (iii)
(iv) 'Define electroscope and dra ~tSf e. L PSS FASEy (iv)

of paper after a oKy L 3T I Lk e 2 do k] )

(v) A charged rod ai:trr:tctsil @r 5
-while these pieces-{ly , why?
’ ® 4 e byl Loyl sl 2w
(vi) Write two differences between data and information. T3 n LS (viP
(vil) What are primary memory devices? | s A B A (vif)
(viii) Define Informatioh arid Comnn.},nication Technology. NIy e u"'"é A (vii)
: | Al
4. Attempt any five pai‘ts.. 10=2 XS5 g,i.L qb‘fﬁﬁ'?'&b“-—(}f -4/d!r
(1)  If the two Resistors; aving o, fr""u‘"/izd:wful? #82 6 !D o )&u”udu s pimh i)
résistances 642 and §42 are g : )
connected in series; find thetr U TS 28
equivalent resistance.
(i) Define electric current. I PSS S (ii)
(i) ‘Provethat 15Wh=3.6M/ = 3.6 M) S D)
(iv) What is the differencic between generator and motor? IRV I II 1y (%v)
(v) Describe Lenz’s law. oy /('\'JL‘- o JEEH év)
(vi)

(vi) What is the difference between stable nuclei amd D] SOz ry",é-méy‘.e P
unstable nuclei? :
vii) How the radio isoto i ield ¢ i 5 ’ 4 f i
(vii) ol pes used in the field of medical m_,yLndL.‘.E, At JQ Lo ﬁ! }/," l—é g [ VH)

YRR

(viii) Write two characteristics of :
) s of gamma rays. S 1F whar® Sy A (viii)

(2:'1-5(,3» )



SECTION-II o

NOTE: Afttempt a?y two questio'ns. 18=2X9 ..£4fww:£.mmru¢.df i
5.(A) What are mechanical waves? L1414 et s S el (.S

(B)

6.(A)

(B®)

(A)

(B)

Explain types of mechanical
waves with examples,

An object and its image in a e 45'5;;,,‘_(/‘3@.‘{5:‘5& iLme_yz 200m e p o L
concave mirror are of the same ' Y bRy . o
height, yet invefted, when the | s . End Il 2 1615
object is 20cm from the mirrdr, What is the focal length of the mirror?
What is meant by an acoustic protéction? 4 e P L gl i (P
Explain its method. i

LI SUd e nl 2 S EredS 01N Sempsifmdune st 4 dob L sem s
Two charges repel each other with a force of 0.1N 5 -uxiiJ.g'.-‘:GCZcm P
when they are 5¢m apart, find the forces between the same charpes (O
when they are 2em apart. <3/ 2

©
L8

) i ', : ,a’- . . o\ ’ vy !
aF: o U’/JJMJ:I “R” J“‘)J-',’L&q;. “A" i,_.{,h.}"‘: u’F)fJJl' ’ du‘aak'..gﬁ'ﬁ;.:l/'gd_v"bw@'gf
L $>+ 3 _Lgf.uwﬂ»({,j‘f" W sl
What is meant by specific resistance? For é{@ ength “L” and cross sectional area “A”
&

derive the relation batween the résistance © gcific rasistance " p"9
Cﬁ P : P

SIS g e Bt 12V Ssed 240y i

[ ede s S FiA S i 100 % b 2200/, eSSk

kf:ijijdJ.b_?;ﬂ 4d00 P
e 04A LU S
1+2+2=5

A transformer, designed to convert the voltage from 240 V a,c mains to 12V, has 4000 turns
on the primary coil. How many turns should be on the secondary coil? If the transformer
were 100% efficient, what current would flow through the primary coil when the current in
the secondary coil was (.4 A? |

20-2023(1*-A)-60000 (MULTAN)

()

()6

('-.-‘J

(wal-7

()



riirvive ORUUF- b - u)/
TIME ALLOWED: 15 Minutes OBJECTIVE Qi’)/”,v e 15 =
MAXIMUM MARKS: 12 MT-G)-22 12=

( 2y el e, 4 2 P . 4
S | /JLJG/')JWJWLV‘KUJ)LU: u;xbéa___)ébﬁdlr/;{d Kz LD s CBA :;Uﬁ;@bﬁd’r/
PR # - ¥ E = "' ” B k3 L
{24! -I(L.bpu.’.‘//fd/uia/ﬂu(d.ﬁ/, :’:J;}b -&/ﬂw.,.lﬁuﬁufou‘d/i.& sk L i.//,fu,ﬂmg;;.g <&
Note: you have four choices for each objective type question as A, B, C and D. The choice -Q/QJ’};-.:,W

=

A

wiukad

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

QavKlaéd"ed in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

-1 /,’Uly

(1) The unit of electric power is: , -9-&'.(/’&»(/'?' A1)
(A) Ohm (ol (B) Watt L 1s (C) Joule 2 (D) Farad i /:'

(2) Ifthe length of simple pendulum is halved, Wnlind 2 VR LAAL ST eSS STzl @)

its time period will be:

®) a7 ® 7= (©) 2r © %

(3) Example of Longitudinal waves is: _ -‘LJC."‘,(J{’JJ;{?@ (3)
(A) Sound waves J#s435- (B) Light waves Jg:&fu (O) Radio waves J#s#4, (D) Water waves Jg:«f dt

(4) The loudness of sound is most closely related to its: ?®?‘Ltn4ﬂuﬁ},,ngu~‘ss UJi'ﬁz (4)
(A) Wavelength %, (B) Frequency ¢/  (C) Peri %{ = (@) Amplitude 325

(5) The image formed by Convex mirror is:

o @\O -Zg.&néfdb&a,//‘fgf
(A) Real and erect walu’g B8 I@%nd inverted J’u;nﬁ/
%gv

(C) Virtual and erect fwﬂJ},n irtual and inverted d"wgﬂgu
0 ; % g | #
%@ will have same: -Kn/.i/.g‘..:ﬁ ;r;“}yz.wza..a Py [/ ‘/597
/

(6) in series combination of capacitors, each c
(C) Capacitance Jf g¥ (D) Charge & voltage é}mﬁé,}g

(A) Charge Gk

(7) Electric power is equal to: -c‘../.'/./:gJ/‘-?i
(&) 7R’ (8) 1v C) 1'v (D) ?

(8) Transformer is used to change the value of & L s G ed ety
(A) Energy &/ (B) Charge l/b (C) Power s} (D) Voltage (s

(9) The out put of two input NAND gate is "0" when: -:._).q_én "0" cz,:aﬁd/-‘/.'fizii.bc/,ul Iy
(A) A=0, B=0 (B) A=1, B=1 (C) A=0, B=1 (D) A=1, B=0

(10) In computer terminology information means: -c‘_.flb'b/‘ﬁ&wl\ﬁ&)tz}/’,,

(A) Large data G3mls  (B) Raw data &3#76 (C) Processed data k4=, (D)Any data L‘;:‘dﬁ/
11) When Uranium (92 Protons) ejects ‘.‘J Ltgo/u';glﬁgf '/'i:{g)i‘ u’-’b{r.’éulig.'r/ Z-,A;J?;y‘g. ( '/':7:4 92) (f’zz.,e
a beta particle, how many protons are left in remaining nucleus?
(A) 74,90 Protons  (B) %, 91Protons  (C) 4, 92 Protons (D) s, 93 Protons
12) If frequency of a wave is 4Hz and wavelength is 0.4 m St dtin 0.4m 2 atz SN
what will be its speed?

(A) 1.6ms™' (B) 16ms™ (C) 0.16ms™ (D) 160ms™
18(0bi)( 3 T T T4 )-2022(A)-50000 (MULTAN)
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SSC PART-ll (10th CLASS)

PHYSICS GROUP- by - oS P
TIME ALLOWED: 1.45 Hours SUBJECTIVE S¥iL» 145 =
MAXIMUM MARKS: 48 MB-G1-22 a8 = S
NOTE: Write same question number ..q.éwuﬁ;_{.Jlr.feé: Z-,»,,%?.»MUVG;.;Q(Q& -

and its part number on answer book, as given in the question paper.
SECTIONH sl

2- Attempt any five parts. 10=2x5 - feelinbie 8 20w
(i)  Write down the difference between Conductor and Insulator. ~LIID el B 2 (i)
(i) ~ How Ammeter is connected in circuit to measure -u,/uy.c.df; ?g.tlgf}xzrr:ﬁ‘f({ld.éfggf&/ut.bi’/ (ii)
the current, support your answer with reason.
(i)  Why some elements are radioactive and S Lt S g b et Sl b auhid (i)
some are not radioactive?
(iv)  Write two main features of parallel combination of resistors. -Q/ch,yr"'(? !»d/}mﬂ/_zﬁj/'iz (iv)
(v}  Whatis Solenoid? State the principle to determine its polarity. -q/ugdflKLf(}"J PIRG RN v)
(vi)  The core of transformer play important role, state it. u’/ub -4./1:/( lbf/fu‘ 2841 (Vi)
(vii)  Alpha particle has more ionization but less penetréting power why? ‘w .fl/u’; ‘um/ /w&ﬁuu: (vii)
(viii) What is atom and write down its parts. é\ LIS e P (viii)
3- Attempt any five parts. 10=2 @é\? -;{(]LLL?LI?!&L:.JI 3
()  Medium-isnecessary for propagation of sound waves%S ce Snftid Lostt$isS Satanf ()
prove it with experiment @ ¢ _
(i)  Whatis sound? How is it produced? & S dnlgoa T (i)
(iiiy  If at Anarkali bazar, sound level is A it S50 80 dB U ssLtn B (il
What will be the intensity of s;
(iv)  What is electroscope and give its two uses? ..456.:-., UI.J*I»Lw ?q_:t/l[:_..rﬁ}gl (iv)
(v)  Whatis Coulomb constant? Write its value. A e Y )
(vi) Differentiate between variable and fixed capacitor. SO L }'{L@;Uﬁdp (vi)
(vii)  What do you know about E-Commerce? Describe it. -q/ug. ‘.‘ugz'_hgl_ﬁfl'&"’éufb’dl (vii)
(vii) Internet is beneficial for us. Write about it. -q)} /2 ?4‘:.4,&4’..4../&4.*4'/-" (viii)
4- Attempt any five parts. 10=2x5 -;{;f.-«ymélzlégc.éf -4/.01:'
()  Define damped oscillation and give example. -c./_,‘)d"}v’u/bé’/""t!uj‘ltﬂ%ﬁ (M
(i)  The frequency of simple -< g =10ms?2 .ﬁq/()"éulfﬁ,’g; vl 5 tEUc 0.5Hz U"L',{/JH,J«;;JG" L (i)
pendulum is 0.5Hz. Find its time period, also determine the length of pendulum if g = 10ms™.
(i)  Define frequency also write its relation with time period. -u.‘.’g‘}"’;-,é,af v..f_(,:g;w’ -q/._y/U u“":ff (iii)
{iv)  State the laws of refraction of light. -é'.: cj.l_/.cj_" l}Zuig/'de’u (iv)
(v)  Whatis Snell's Law? Write its formula. ..uf’ﬁunﬁb’w ??.y’u)G'KJ-’:’ (v)
(vi)  Explain power of lens. Also define its unit. Iy L _q/yu,&,g;f;% (vi)

(vii) Draw a symbolic diagram for NAND gate and write its truth table. -J&Z)Kuwlélzﬂ/@}f ke NAND (vii)
(vii) Define digital quantities and give an example. _é’f::Jk"/uQ/:ié - /""Juulﬂg}:ﬁ’;:‘ (viii)
( N Uss)



(2)

~ SECTION-ll cu.e2 MAN G /2>

NOTE: Attempt any two questions. 18=9x2 -é{f@@lﬁéauv;;z&f -
5.(A) How radio isotopes are used 2+2 ?4;..l")clgtfdb”»‘l.&5uu({ul/./‘uk’c)‘f7di/@§; (-5

(B)

6.(A)

(B)

as a tracer and carbon dating?

4P Pl LUP 5 2 ANGE S B A et 100W 220V b 2D
An electric bulb is marked with 220V, 100W. "5 - ()vg:,,f.:,mb’d}tdw'_n@;’u: (ol zad L
Find the resistance of the filament of the bulb. If the bulb is used 5-hours daily.

Find the energy in kilowatt-hours consumed by the bulb in one month (30 days).

)
o
oSO ¥ L K1

Explain the application of 2+2 _x'u&f/y'
electrostatics for electrostatic air cleaner. Also draw a lab

1+1+2+1 %’mb’»&:@’ééi.f&kﬁb’@@ et 35em s 2 kHz2 P\ ;@gwuﬁ;{}«.&,ﬁswg

A sound wave has a frequency of 2 kHz and\wa length 35 cm. How long will it take to travel 1.5 km?

N\
\

1x4 b elbai®pe LEAAE 2y foolal Bidbi o B e b Slise
Explain with the help of ray diagram the image formation from convex lense.
When object is placed at four different positions infront of a convex lense.

5 g =10ms> g g, = g% SislndSlgaedbian (Bl ibun -4 2 bafeshizmn

The time period of a simple pendulum is 2 s. What will be its length on the Earth?
What will be its length on the Moonif g, = g% where 8, = 10ms™

18-2022(A)-50000 (MULTAN)
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%

TIME ALLOWED: 15 Minutes OBJECTIVE Q‘S Yl w15 =
MAXIMUM MARKS: 12 Mip-G2-22 12= A

A cfF L /:LJ:?DWJWL;,‘;?MALJ u:;bé’:é.:é‘.bédirﬂ{gé(g}b? -ungé,: D . C:B-A QU,"..'/FJ};»&J‘)’/; -
{24 -(Lb&:ﬂ/éfd@/f;{é_/.«.é :'g/,h.?b -anﬁw?fzo/ﬁﬁazfgfi.& Jok¥ & L/,éfu,ﬂmyc,ug i)
Note: you have four choices for each objective type question as A, B, C and D. The choice _qjld’)}.;my
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles wiil result In zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 : A Ay
(1) The number of protons in  ,,U>* is: -q_:fﬁJy’}:4¢ SU (1)
(A) 146 (B) 238 (C) 196 (D) 92
(2) Acurrent of 3A is flowing through a wire ?c‘_i,//f ('/J.l'ngﬂ;') ..;.L}(;;/ 3A Lo 1 L (2)
for 1 minute. What is the charge flowing through the wire?
(A) 3C (B) 180C . (C) 180 x107C (D) 20C
(3) The unit of intensity of sound is: - ikl SansT (3)
(A wm™ (B) Wm™ C) wm’ (D) Wm .
(4) Ifthe length of a pendulum is doubled its time period will be: Ko bontafe5 ) Ul @
A V2T ®) 2r © ) %
(5) The characteristic of sound by which -9811{ w‘JCfJ/'ui'f‘:i V»J &, @gvﬁﬁcmfu*wﬁu&w (5)
we can distinguish between two sounds of same loudness and pitch is ca:<§/
(A) Pitch & (B) Quality (¥ @@v?ss U450 (D) Intensity il
(6) The image formed by Concave mirror is: @ - _q,&w('f Ubé_.cd/z@/ (6)

(A)Real & (B) Virtual Jz»  (C) Real or Virfuahfzs L s (D) Real and virtual both Usfz.
A ’/‘ﬁc—d{%@ BN uF A 120F A ESE S @)

(7) Two capacitors of capacitances 6uF pF are connected in parallel with a 12V battery.

Their equivalent capacitance is; >\

(A) 6uF (B) 12uF (C) 1.2uF (D) 18pF

(8) Whatis the voltage across a 3Q) et IL et /K BA e pnl 30 £ (8)

resistor when 6A of current passes through it?

(A) 36V (B) 9V (C) 18V (D) 2V

(9) The is a practical application of mutual induction. -4 tfrf{dﬂéﬂu&‘ — 9)
(A) D.C motor s D.C (B) Transformer /477 (C) Relay & . (D) A.C generator £ A.C

(10) Boolean expression of NAND gate is: ~<;-~=/Ufu‘i’JJ X (10)
(A) X=4B B) X =4-B (C) X = A+B (D) X = A+B

(11) Number of components of computer based information system is: -c‘-;w?szui(’” Fiizad (1)
(A) 3 (B) 4 (C) 5 D) 6

(12) Which of the following radiations has more penetrating power? ?g:yng.fg/’&gffc,w f-‘ld,éjdjsau (12)
(A) Gamma rays ;;/L:.f (B) Alpha particle gf’;gﬂ! (C) Beta particle J?z&t‘g

(D) All have same ability ¢ (L tbofp 1

20(Obj)( 3¢ 7 )-2022(A)-40000 (MULTAN)



2022 (A)

A

SSC PART-lI (10th CLASS)

PHYSICS GROUP-II

TIME ALLOWED: 1.45 Hours

MAXIMUM MARKS: 48
NOTE:

2- Attempt any five parts.

(i)

(ii)
(i)
(iv)
(v)

(vi)
(vii)

SUBJECTIVE G0

lras - .;:// J//
145

—d

Write same question number

MTN=G2a32 48 = AF
-c.Z/J)d" L/J‘}"J?d{ CJJ/G/A’/’U'}"(}J/Q(GV -

and its part number on answer book, as given in the question paper.
SECTION- (s

Differentiate between conductors and insulators.
State Lenz's Law.

Define Fission reaction and write its equation.
Write the alpha decay for ,, Po**

In order to measure current in a circuit
why ammeter is always connected in series?

Draw a labelled diagram to illustrate the structure of transformer.

What is the difference between atomic number and atomic m

(vii) How many watt-hours are there in 1000 Joules?

3- Attempt any five parts.

4- Attempt any five parts.

(i)
(il
(i)

(vi)

(vii)

Describe any two characteristics of SOU@O
Define the capacitance of a capaci {and write its unit

\A d
What is the electric field intensﬁme down its unit.

How the capacitors are connected in two ways in a circuit?

What is a CPU? On which thing it consists of?
What is a browser and Email?
Is Coulomb's law applicable for all charges?

What is loudness of sound?
Write any two factors on which it depends.

What is meant by mechanical waves? Give example.
Prove that v= fA

Why formation of image by lens and mirror is called
geometrical optics?

Draw a ray diagram of image formation by a magnifying glass.

What is the difference between angle of incidence and
angle of reflection?

How NOT gate is an inverter?
How NOT aate is formed from NAND and NOR agates?

10 =2x5

e M P Nt e e kT

10=2x5

S ferlintie & 24y
_u’/ul.fd/gf//r'wl//f (i)

-w’uuum/ (i
u"ﬂn,wumub/@—‘ ()

LT LS WL L Pa® ()

Sebolirud e & by e 2af pid L pna§aS pfnl ()

»@

u/ 5 besbpiiiesudpi/] B i)
§W AN EAR (i)
S LmnTenZ £J7 1000 (vii)

S fe izl 8 3
oo )
g S i SSied ()
w‘b’rw fe i '*WJ,“! (i)

e byindd, u-‘J/«ﬁC/:/c-u:e}» (v)
ety a0% e CPU ()

S sl (vi) 4

e bnd U2 b Vo ISE A (il

y (vii

g ferlintledS 4y
U S i FET ()

v=fa JU et i)

‘e WL B e Gie i i

Leplienfet§Gevb6F L W)
e Ol PSS )

e iifiedet (v
S K e it e 3 L e s Lk yii)



(2)
SECTION-Il rn.e> Myg, -GA25

NOTE: Attempt any two questions. 18=9x 2 -g{{fa@’ﬁéoﬂb’»c_éf L

5.(A)

(B)

B.(A)

=)

14241 g Leobsluie o Sedndi L L LI A S S g S FE S 8 (s

Define electric current. How battery is.used as a source of current? Explain it with diagram.

% o ; 1 : o
5 WL L g DS 14l e Jo 5730 S 14k (L)
Carbon-14 has a half life of 5730 years. How long will it take for the quantity of Carbon-14
in @ sample to drop to one-eight of the initial quantity?

o)
Explain the electrostatics with 1+3 -J_/%% ¢ u’@;r'glc,u /':K/’:u@:}gl (.6
the example of electrostatic air cleaner. {Fe)

5 oI LS So Lol 1.5 35cm ul 2 kHz .,;;';;%w:a’sf/’o’g,ﬁ;w_ﬁ )

A sound wave has a frequency of 2 kHz and wavelength 35 cm. How long will it take to travel 1.5 km?

X

O
O
-q//&fyu,d'f&ﬁ/u:;ﬁw%f ?q.)f/gc—u}gi}'}'hj; (.7

What is meant by total inter ection? Explain through diagram passing of light on optical fibres.
5 -c‘;afiuﬁ 05s bl 90 m J)’JJHJJK,A‘% 190 Hz u’%f)&:wﬂ)dw;nf&udfg.p ()

U/ 5sdtr (b) Wnfixdts (@)
A transverse wave produced on a spring has a frequency of 190 Hz and travels along the length of the
springof 90 min 0.5 s. (@) What is the speed of the wave?
(b) What is the wave length of the wave?

20-2022(A)-40000 (MULTAN)



PHYSICS GROUP-
TIME ALLOWED: 15 Minutes

e T':hf }'J‘G;

e

MAXIMUM MARKS: 12

OBJECTIVE (.o IPRTIPE}
12= !’flf
L& e i

Ao ch | STl e e bl MGz €L DA C B 2l )

PEEm N af@-?&!jéé’&fdfﬁ};;ﬁ"&; fwit R R o P S PN | s &SR oLt
Note: you have four choices for each objective type question as A, B, C and D. The choice -/ " rair
which you [hink is correct. fill that bubble in front of that question number, on bubbile sheet. Use marker or pen
1o fill the bubbles. Cutting o fiiling two ar more bubbles will resull In Zero mark in that gquestion. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of ORJECTIVE PAPER.

Q.No.1 A A
(1) Joule's taw i oz |
2 2p
) I = iR (B} 5 = 1Ry (G} w = Ig’ (D) w = frﬂ

21 12the turn ratio of a transformer is 10, it means:
N

Ay N, o= —F B} 1, =10/,

"™ To B} J, =10/,

(3) X =4 Bthen X is0when
A} 4=0 8B=0 Bla=0 &=

(4] The logcal opecation perlonmed by this gate 5.

(A} AND &
(3} What does the tern e-mad stand &

é@—

Sl Wethndlsnith @

¥
) ¥, = ﬂ% ©) N, =10,

-».u.:g X jx=a8/ @
!':] A ;:‘ {ﬂj d=1, B=0
&
2

X

T T » .
Tr‘_ a”‘ﬂ._.i"‘b;”*lr; '.:;.'J & ST {4

(C)WOR .3 (D) NAND &5

e K @

(A} Extarnai mad FLf240 (B) Extramad 1241 (C) Emergency mai Ko (D) Electionic mail X522

(5] The number of neutrons in trifium (;”: i
A 4 1 B 2 »
{7) Formula for the time penod of a simpie pendulum
s e

A T”hﬁgi ® T =22
(8) The loudness of sound is most closely related to ts
(A) Viavelengih 7% (B) Frequency &
3] The refractive index 5 agual o
A et B net
¢ v

{10) Thevaive ol "K' in Coulomb's law is:
WA 9w 10" NSt (B) 9= 10" Amte?
{11} The unit of electric field intensity =

A v B NC

widnmt Q) & @
0) 1
it S

o) 7= 2"?%:

(C)3 £

C) Tw h‘]ri

et A A (@)

[C) Period £ 5 (D} Ampltuda _tx;;i .
--%*:H’:’J;y ‘:’{1::.!# 459
['E: A W VY Ia}r‘:ng

el K ganl A (10)
(D) 9= 10" N 272
R ST

o Ne?

iC) 9= 10" N =2

2

i) M



PHYSICS GROUP- " 4

TIME ALLOWED: 145 Hours SUBJECTIVE f‘:ﬁw Z145 = Zn
MAXIMUM MARKS: 48 a8 = 4 F

NOTE: Write same question number M#fx{ MAMM;Q@ -ty

and its part number on answer book, as given in the question paper.

2. Attempt any five parts. MW=2x5 mw Zf‘UV
1) Dafng suctie frequency for Fuman ear ,,,,—_.ff.,t.ﬁ; e,;k._r-ﬁ,‘_gf.,u
{#)  Define plach and quaity of sound 'J..,;,.-*Mf # BT m
imi  Defarentale between Concave and Comven meemoe } B2 A ’f‘-’*.!"i’ ¥ ‘S {mi)
() Wheve goes the focus of Concave and Corve mimons Se? e B NS I S W)
(vi Descride ihe meror formulns and wiite Gown ds eguation -4,..""7 *n!—-.f‘..!"dufwm ke D)
(wi)  Wirite e formuia for spring constant K and 45 unit i mm.{.i w2 )
(un)  Deafire vibraticn and srmpliuds _H,.,, szf e _pJ:ﬂ'.. {ﬂ]
{v) Dt tme percd and gve it relalionshg wih froquency te. P i ey a Al el e

- Attempt any five parts. W=2x6 _&&#ﬁrz;ziaﬁuf J..-‘Ur
i)  Descnbe Right hand Rule. .;‘J;,-h.,r'hﬁgm e D
(il Define Mutual Inguction LA S W
(i) Defing sloctric powss and wrie #s 5.1 unit AR EREr | P R
() Defing siectromatve farce 80 wrde its fomuin @ . *‘énmwm,f.m, SHAR ()
(v}  Defing ohmac ang non-chmic malengls. (&% ..“_:_;ff;: KLt Al W)
iwi  Define NAND Gate and wras it trulh iable % . .....Fmﬁ.ﬁg-ﬁ *—EfME fwi]
) Defes gn@iogus Juanlities and give examgie. % fﬂfu s ‘f-gf .'r-‘ﬂ*-il-.' {whi)
fwa)  Draw symibolic disgram for NOR Gate and wriy 2 [ ...;,-i«fj .in.fi;ﬁ i',d: w VR 5..;._,; MNOR  wil)
4- Attempt any five parts. oVv1i=2x 5 _&ﬁr.wﬁmﬁbﬁ Jf’uﬁr
B)  Whot s delectnie? Gae an sxamole e te mel LN

R R N e R m
(5] Diefine Coulomt's Law Ep IRl A )
tv)  Wirde Bhe names of compeaents &f compuler based INformaton system kel r‘.._, Praflailatet W)
vl Winle two advantages of transrussicn of dats Medugh optical fbre. _5 ,?Iﬁsh_.,»;*-'"-: Al f».,..,mi,a: F LA

feif  Doloe wob browsing and e-mad o AL B SiRier W)
{vn)  Whal & carbon dating? % deduBirnd (v
(v} Defing isotope and give an example: e Ll AE AT (i)

SECTION-I s
NOTE: Attempt any two questions.  18=9x2 &ﬁ-ﬂ#&:—ﬂn&y e
S{A) What s meant by Loudness of Sound? 4 eSS e sife ARy (LALS
O what h-:w:-dms a Loudneas dopends?  Eaplain. o
_?.h—-ai .F'-Lrah‘ c £ ﬁ. {-ﬂ-nd‘!’.ﬂ"‘ﬁ" 0.03C ‘wﬂf-ﬂk' L,d&# * ﬁg e bhf B *’C#H & (vi

(8] A capacitor hoids 0 03 Coulomis of charge when fully charged by a 5 LA R
§ volt batery  How much voilage wou'd be requined for 10 hoid 3 Coulombs of charge?
B (A) Differantate Detwesn ANSIOZUE B 4 .*.-r._,m._,-.'h}ﬁ."’f"‘h.s'”‘h-ﬂ- & L8
Dl Electroncs wih examples

5 e Fnf LR S N Py 588em L Ef ey Al Mtem e ()
(8] Fnd the foca longth of a merror thal forms an image 5.660m behind the mircr of an object placed 3
34 &om infront the merror. 18 Ehe MIFTOr CONCaWVE O Corvex’?
TUA) Dafing ruclear transmutason 1 AR L)l Lot (AR iR (N
Write the Qendrsi quaton of %3 decay and also wiite 5N SxBTCN

- | T2 | = A a@ o



= - | .
PHYSICS GROUP-I - a7
TIME ALLOWED: 15 Minutes OBJECTIVE (.2 15 = S
MAXIMUM MARKS: 12 12= ¥
Ao o8 | FRAISHOL R stini it P nE e N o SO o 2l s D 0 G A aptafel Mee  Lod

C T Ly *..‘:*f‘u; J‘.F;"-'n:wr‘,fa-f‘:‘-; f’i‘@ﬁ't ..ﬁfw;ﬁl'ﬂ‘ﬂi,fw;;_.i: ey k -ff;i:;l;”hjlli—-n_r' i
Nole: you have four chelces for sach olfjective fype guestion as A, B, C and D. The cholce .0 " 0w

which yos think s correct, fill thal bubble in front of that question number, on Dubbis shoel. Use Mmarker of pen

o fill the Bubbles. Cutting or filling two or more bubbles will Fegailt (A Pore mardk in Bhat guesiion, Mo credit will be

aveaniod in cane BUBBLES are nol filled. Do not modve guastions an this slhast of DEJECTIVE PAMER.

Q.No.1 A Al
(1) Whach of the folicwing is not changed during it sl SR rsie L tine (1)
refraction of ght?
(A) s direction =11 (B} Its speed iriln  (C) s frequency (ALY (D) s wave length A5
[2) Pesdive slectnc charge ,;&H,k._-:}?z i )

(A} Altracts other positive charge < L’??&@E.Q{L*m (B} Repels other positive charge g.:—’in’&;gﬁ:};_ -

(C) Attracts a neutral charge .f_:*.ﬂ:‘*':";".&,g,},&i (D) Repeis a neutral chage ._;E.ffu’e,.,k.}}&

(3] Flow of electic cument in conductors is dus to e Do) Rk L 2y
(A} Positve jors 7124 (B) Negative lons #Te¥ (C) Postive charges Zipiiy (D) Free electrons &,/
(4] Which statement i true about the magnetic poles? o et P L R e
(A) Uniike poies repel 72/ Bl {20 (B) Like poles gafdd [ /U iy 3
(€} Magnetc poles do nol efect each other .Lx.,.ﬁm.‘-' "f;"'!:‘i"
(D) A single magnetic pol coes not exist  ox Srew (e
(5) The logical operation performed by this gate. 75> et LB Ll
s
. _——
' __}_
(AL AND BN (C)NAND ©)OR f
(6] In coemputer terminology. nformation means: e K L S
(7} ‘solopes are BOms of same slement with different: ce A L e L o L R T
(A} ADMIC Mass Miws b (B} Atomic number i b
{C) Number of profons #5155, (D) Numbe: of electrons +.93 s 51
B W Fe-<kx heuntol k is et k L F=-kx
WMl @) e i © Mm@ SR
(8)  The refractive index of water i e I3k vk
(&) 138 iB) 135 (G} 1.34 (D) 1.33
(%0} Thne equaten for the capacitance of a paraliel plale capacitor is: PRSI QIO (2 LV T
" 4 . - XS - F, § g
w =9 8 =97 © =R, 0} C =

(1) Which of e foliowing examples is of simple harmonic moton? e S ima B e 2 e
{4 The motion of simple pendulum =204 0. {B) The mation of ceding fan .vffiéa:a{
{C) The spinning of eacth on s axis =03/C #02s (D) A bouncing ball on floor =75l 31, 75 )

13

{4y

(7]

(B}

i)

(10

(11}



T S S I . RSN Wy

TIME ALLOWED: 4 45 Hours SUBJECTIVE i S48 =

MAXIMUM MARKS: 48 | | a8 = AF
NOTE: Write same question number _?Ew:.;_f.}r!ﬁé' &a;:yfizfﬁﬁﬂn,?r.;q{;?ﬂ o

and its part number on answer book, as given in the question paper.
SECTIONd (sls

2- Attempt any five parts. 10=2x5 faLHﬁWﬁ%;éf -Z.r"-.}'r
i  Define Spring Constant and weits its unt. -::’-g ﬁﬁ%

{6}  Define Teme penod and Frequency.  $ - ﬁ

(B}  Awsve moves on 3 sinky with fequency of . e lelps - 0dm Fps s u%w ended et 4 iy

4Hz and wavelength of 0.4m.  VWhat i the speed of the wave?

(W) What is the diferance betwesn frequency and pach? e I LA ()
(¥}  VWhat is the audible frequency rangd for human ear? n.:"a'wmf-'wﬁﬁd‘-” (v}
(v} Define Snel's Law and writs s feemula. ﬁmﬁ.%é—tﬂdbhéﬁ (i)
(vii)  VWhat is meant by Refractive Index? R ALY wn
(vii) VWhat is the Efferance between real and virtual image? e Ipal Erfean i

3- Attempt any five parts. W0=2x5 @hzﬁleil.a&f Jf@r'
(i  Define Ohavs Law and write s formuia. m»ﬁm«#.,,g.f-z%rﬂiﬁ! (i
(i) Descrive Joulke's Law and write & formuta. rﬁﬁ,wfgwfmhz iy
(' Provethat | kW= 36 MJ 1 kWA = 3600 SS ok (i)
(W) WWhat is meart by mutual induction? @ ted ol X #z’ (i

(v)  What is an ideal transiormer? T bl B ARLET (W)
vii Define "OR" gata and wrile is truth table. % Ay Sl or
(vii) Draw & symboc ciagram of NAND gate and wmm@ - ;..Fiul:.ﬁrd.,[ urﬂfuﬁ'ﬂ-{h (i)
(vid) Define analogue quaniities and give an examphe wnetion g L Al s Sivg (v
4. Attempt any five parts, WRExS J;f_.u;&m&t;_&- AN
(1 Define Coulomt's Law and wiite it formuta Snagfdo il A ®

(i)  Define electric potentinl and write its un 2 e SR AS SRR W
(€] VAite two uses of capacitos, - #’Lﬁ"'ﬂr’:ﬁ (i)
V) What is the diflerence between 4@ B information Lo T I

(v)  Wite bwo advantages of
fwi) Write names of four components ml‘mnwuud nformaton system

Sl 6 )
-f-g-g,:bﬂsz-wmm i)

(vi) Defne Fusion reaction and writs Bs equation S S ANt )
{wid] WWhat s the dfierence between atomic numbar and Stomic muss? T;;JNL: t@ﬂﬂf{ﬁt‘ (wik)
SECTION-Il s )
NOTE: Attempt any two questions. 18=9x2 il e $f i
5{4) Dsfine tensty of sound 4 o iaiond L puiiss LT AL i T (.5
Derive e for sound intensity ievel
= .ﬁsﬂ.a.,p.@_ﬁﬁ_.wmh BV 3y et ,H’d-iu"" J‘fJ SpF A& duF . 3pF fi (el
(B) Three capaciiors with capacitance 3p.F, 4uF and 5 .é-ﬁ"d‘.ﬁrﬁ'&vhuﬁxgﬁ‘“

SUF ane arranged in seies combination 1o a batiery of 8. Find the squivalent capacitance of the
combnation aiso fiad the quantity of chamge across each capaciorn

V I

B ?{i ik S e La L o p Sattnfpnd) ()-8
P
B(A) Describa the construction of & transformer. For an ideal ransionme©, prowe that -ﬂ = %
v P

(B) An cbject is placed § LA lE iyl fom 2l o 10em SIS ECL ()
Bcm in front of a concave mimor that has focal length 10cm. nmmm:mmumm
TiA) What ts meant by Fission reaction? Explain it 4 L ot Eﬂﬁﬁgﬁw ()T
5 the i AT R o 2 et itd 154 ;,L..t,mb‘.mr - 10V m;r,,l*'g._i)ﬁyﬂf_ﬁ ()



R [V AVETY SoJ

NUMBER: 3477 SSC PART-Il (10th CLASS)

PHYSICS GROUP- o on) S
TIME ALLOWED: 15 Minutes OBJECTIVE J@/’y 15 = oy

MAXIMUM MARKS: 12 MFN-lo-&py- 20 2= AF

Ak SAh 038Gl g ene u,juafa;-;:/_w:wm{q 6012 -2 £E 2D 4 C B A =R bl oS
{24! -K’Lt_wpgﬂ’},’;éfufa/ﬂgﬁ./;/; JEJ:/’L' -@/ﬂwvlﬁa/ﬁuf:—/y’dz_/g S | é./é;b,}m.-g;;.g B
Note: you have four choices for each objective type question as A, B, C and D. The choice -q,&d’}f}mv
which you think is correct, fifl that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 /,Uly'

(1) The S! unit of power of a lens s . < Y S OA ()
(A) Watt 2t (B) Hertz 7 (C)Bel (D) Dioptre 2741

(2) Capacitance is defined as: -‘LJ%J LIS gt S (2)
) ve ®) 9 © ov 0 7

(3) When we double the voltage in a ?.f_g}@nb@»wwg%@:f é}nuiv}»‘wgﬁ,z (3)

simple electric circuit, it doubles the: S

(A) Current aif (B) Power s (C) Resist@aé@% (D)BothAand B s B 4 A

{4) Colour coding for Neutral wire is: % “ _____ 5 $ﬁJ/’bd/‘:é (4)
(A) Black or blue Ik | »\ | @brown Wiz by
(C) Green or yellow ) | hite or violet J"g A

(5) The step up transformer: @ sl ()

(A) Increases the input current %& /O.viuf (B) Increases the input voltage ;.wzl andg()
(C) Has more turns in prima“.nfg wlia Jlfd/w
(D) Has less turns in the pdary coil gjz.mc; (ufwfdz,’c&f

(6) The particles emitted from a hot cathode surface are: ) -ugi.wf «uﬁbﬂéc.af 5,51';'/;2%';4 (6)
(A) Positive ions /73‘:); (B) Negative ions T#¥ (C) Protons -/';,4 (D) Electrons 34!

(7) Boolean expressin for NOR gate is: < coadedt (7)
(A) X=4+8 (B) X =4-B C) X=4-8B D)X=A+B

(8) 1024 bytes are equal to: -ugz"_:f/..bwf‘g 1024 (8
(A) 1KB (B) 1 MB (C) 1GB (D) None of these (S 0de 2ol

(9) Find the number of neutrons in the ‘< il SSeGle Bx P8k (9)

nuclide defined by 12 x .

(A) 6 (B) 7 (C) 13 (D) 19 e

(10) Waves transfer: -ugdff s (10)
(A} Energy (. (B) Frequency U*g{) (C) Wavelength ﬂqu: (D) Velocity (57Us

(11) An example of Longitudinal Waves is: : -4¢JL’"IJ J;j{J}gi@ (11}

(A) Sound waves g5l (B) Light waves 13xJ( (C) Radio waves igs 74, (D) Water waves s i
{12) Anobjectis 14 cm V;.g&afid;/ -‘aﬁ?'{ 5.8cm 4jf“£ //@ -;.Jg{ﬁﬁé 14 cm z.vij/uf/ﬁ.g (12)
in front of a Convex mirror. The image is 5.8 cm behind the mirror. What is the focal length of the mirror?
(A) —4.1cm (B) —8.2¢cm (C) -9.9¢cm (D) -20cm



ZU2U (A) FAYE
SSC PART-II (10th CLASS)

PHYSICS GROUP-I be - ond U
TIME ALLOWED: 1.45 Hours SUBJECTIVE .{Le 145 =
MAXIMUM MARKS: 48 M7, IN/=10 -0,, y7-) 48 = A
NOTE: Write same question number - B g Iy S REE Lo s 2 6 DL O
and its part number on answer book, as given in the question paper.
SECTION+ Lo
2- Attempt any five parts. 10=2x5 -é f..,Ung}‘f/Lc,d/ V%/L,
(i) Give difference between Mechanical and Electromagnetic Waves S M)}u‘ iy J@C‘ /drw
(i)  Whatis meant by Restoring Force? *‘4;!/%—_,/;’.;)%, (n)
(iliy  Provethat v= A v=fA ..J/.f‘ (if)
(iv)  What is meant by Loudness of Sound? f‘?z "c.le:‘c. qfufl&f’ 'I/U/r‘—u J,JJMV (iv)
Name the factors on which it depends.
(v)  Whatis meant by "SONAR"? ‘el e "SONAR" Lty (V)
{vi)  What is Audible Frequency Range? “4_&»»0(0”:( Jw (v
(vii)  Write two conditions for total internal reflection. -u"”p /:)g, J/U’i {vil)
(viil)  What is the difference between Shortsightedness and Farsightedness. "c.u/u/u" uﬁﬁuld )L/ /2 (vill)
3- Attempt any five parts. 10=2x5 ‘../f.,w’éfi él.c,uf -3/dlr
{i) What is meant by Electric field intensity? Write its unit. AL &I U A (i)
(i)  Write two factors which affect the ability of a fJiﬁ:a\@m/Jw&_// Y-410'%4 / (i)
capacitor to store a change.
(i)  Define Kilowatt Hour @O Stk i)
(iv)  What is meant by Electric Current? Write its unit. %{\Q; o wople /9 (v
(v)  Write down colour coding of Live wire and Earth wire. @ _u:”.f j/d I ! gl (v)
(vi)  State Fleming's Left Hand Rule. % -_{ugdﬂ K/Lu’ ' Ind (vi)
(viiy What is Armature? @ S \TET (i)
(viii) Define Electromagnetic induction. -i/...v/"J Ji’m 3550 (viii)
4- Attempt any five parts. OV J0=2x5 ,ézfuwélﬂf LS -4ty
{i) What is meant by Electron Gun? ite any use of it. -&JLW!U/KJ! “.c.:t/uc,vfw, vl (i)
(i)  What is meant by DAC an , ) "c.:v/u:_ ADC s DAC (i)
(i) Draw a symbolic diagram OR gate and write its truth table. _c_,LV FA RS bl ;g’,l- ../‘/ NOR (i)
{iv)  Write the names of components of (CBIS) computer based 40‘(. L 4/“ /"Q/Zwbw// {iv)
information system.
(v)  What is meant by Flow of Information? fe i e ;L«LJ”A»{ (v)
(viy  Define fission reaction and write its equation. S .,M/JJI» i Lv )‘J u'* uw’ (vi)
(vity  What are the Radicisotopes? f.vg/_xy sy i, (vil)
(viii) Describe two common radiations hazards. -u:/u_{g:.«{',ﬁﬁ’i;u&:jéfdéj (i)
SECTION-II (5.
NOTE: Attempt any two questions. 18=9x 2 S ferl e §f oS
5.(A) Prove that the motion of Ball and Bowl system 4 e PR TS NS e ()5

execute simple harmonic motion. _ o )
5 AT 1.28 S ARG e Juti T 350 e JETS L it (L)
A ray of light from air is incident on a liquid surface at an angle of incidence 30°. Calculate the angle of

refraction if the refractive index of the liquid is 1.25.

6.(A) State and explain Joule's Lafr 4 ] /ub;.._)wu/b K% 2 _u/..,«»wauziuf (.6
5 -J/"}L’L'MJ U/".. nc..t'w/'/}"‘,zb 0.06C £ ffic_vb(vzbfj}bg%/ic,d/"d/ oV .—9//’{.«( (..4

(B) A capacitor holds 0.06 Coulombs of charge when fully charged by a 9 Volt battery.
Calculate the capacitance of the capacitor.

7.(A) What is meant by Thermionic 4 Feolbd I e BB 0 e i f (.7
Emission? Explain the deflection of electrons by electric field and magnetic field.
5 Wi OIS 80-2 il 26 e Ju 5.25 S 60-2N 5K 1wd (L)

(B) Cobait-60 is a radioactive element with half-life of 5.25 years. What fraction of the original sample



PAPER CODE 2020 (A) VA

NUMBER: 3472 SSC PART-il (10th CLASS)

PHYSICS GROUP-I -
TIME ALLOWED: 15 Minutes OBJECTIVE ;ﬁ/",ﬁ 15 = S
MAXIMUM MARKS: 12 M7TN-10-G2-20 2= Af

Y. 2o /C'U(a?bw&f&/cf.glﬁ_“.«w:,uf u:fbézc:-)‘d.wf.dlrﬁ/?géw‘ﬁ --gféé.) D CBA .:«Uﬁ;ﬁzgéidlr/: it
(gt S eSS4 Sosdts i rola e §i S S | LT ussimbie Ll s
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/f:d’}ﬁ-awy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 1 /fdly

(1) In vacuum all electromagnetic waves have same: - ?:Jiﬂ S0y liniun 53l Vu’f"zgﬁ (1)
(A) Speed i (B) Frequency G (C)Ampliude 3£$Y (D) Wavelength 5%

(2) One belis equal to: e bwsls J1 @
(A) 100B (B)20dB (C)30dB @@B

(3) The speed of light in water is approximately:

S ~§—éf<fd%}u13g (3)
(A) 23 x 108ms™! (B) 3.5 108 ms™! (C) 2&5@ D) 3x 108 ms™!

(4) The formula to find the refractive index is: & UKL /:,);»f ey ()
B = ® 1= %0 &% 0 7= o =3

(5) The unit of electric potential is:

oA )

4

(A) Ampere 4 ule Jz (C) Volt & (D) Ohm 2y |
(6) One milli ampere is equal to: w8 6)
(A) 10724 (B) 10764 (C) 1074 D) 1074
(7) The formula to find the magnitude of current is: -.;.U/JSKL/(}"/WJJJ/ (7
- - _o/ _v/
W =9 (B) 7 =0V © 1=Y ®) 1=,
(8)  Number of coils in transformer is: ,+3ﬂ,;y“J}?fuf/jM; (8)
(A) 1 (B) 2 €) 3 (D) 4 »
(9) The main components of CRO are: -qtuj‘;;'gfi CRO  (9)
(A) 2 (B) 3 (C) 4 (D) 5
(10) NOT gate is also called: SES fdet (10
(A) Conductor}@f (B) Amplifier 4 (C)Resistor 77 (D) Inverter 2
(11) From which of the following you can get information ?Vfé/iyb%ﬁ;'dC/’/t;;TC-J(C—UfJ:,‘,g/ﬂ (11)
almost about everything?
w b { »
(A) Books S (B) Teacher I (C) Computer /¢ (D) Internet /7!
(12) Isotopes of Hydrogen are: GRIL R (12)

(a9 (B) 3 (C) 4 (D) &
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NOTE: Write same question number -écj,u:;,./.gwﬁ;f b»A?ui/-‘dM};{Qb’dl? -

and its part number on answer book, as given in the question paper.
SECTION-l s.»

2- Attempt any five parts. 10=2x5 ~Efe2linble 8 240
(i)  Distinguish between Longitudinal and Transverse Waves. -qu/’uw:ﬁx/swﬂ/ 2 J)g:g' (i)
(i) Define Reflection of Waves and Diffraction of Waves. Jjj//bﬂ /J/g;..i Ju'{ /wlm.:l aSts (i)

GAu i G0 gy S (il

(iiiy  Write the basic difference between Mechanical waves
and Electromagnetic waves.

(iv)  Write in brief on any one facter upon which loudness of A Al ngc,r"#céd'b.gv/fﬁ"' (iv)
sound depends.

(v)  Whatis the audible frequency range Wt Ghrmin FL 2 n L P St S Biese JoL Lo it ()
for a normai human ear? Does this range changes with increase of age?

(vi)  What is Acoustic Protection? et Ay (}:‘ (vi)

-qugg:liéu“'/ LS (i

{vii) State the Laws of Refraction of Light.
LIPS i

(viii) Define Total Internal Reflection.

3- Attempt any five parts. 10=2x5 ...«Llicﬁlifétr_df -3/‘2)1;’
0 Wirite any two types of Capacitors. S u‘"ﬁ W31as(ST de }"{ (i)
(i)  Define Electric Potential. o @\ -é 75 J”’j’J/C ()
(i) Define e.m.f (electromotive force). % b u/ba//’dfw:’:’rna: (iit)
(iv)  Define Electric Current and write its unit. @ _J"’..A’meﬁ” J/J_//.f/af {iv)
(v)  Write the difference between Direct Current and A!turrent ~u:.‘“gu/u" i .ﬁf/‘ Tate S b 713 (v}

Meld. - /uud-fsmw;{‘.&_/u*’kw\!wm (vi)

(viy  State Right Hand Rule to find the direction of M@? i

(vii) Write the factors affecting on Induced e.m.{:

{viii) In D.C motor how can we increase the
resultant force acting on armature

4- Attempt any five parts.

) g“”‘U‘fthg_f;ul/f/._ﬂi (’i S Jr‘"lf (vii)
B e § e Feondf piadymI Yy £ASIASSS (i)

ite any two methods.

10=2x5 4{//._,:,:,7&120&!.;&{ -4ty

{1 Write a short note on Electron Gun. j/‘*ifu- (i)
{if) Define Analogue Quantities and give example. :th,ﬂ; - fJu,/wJuu (i)
(i)  Define AND-Gate. Give its Truth Table. . pmsw Al AND (i)
(iv)  What do you understand by information and ?u:clgl_f'.; T N S EIE "J;:‘;;I;ff/w! (iv)

Communication Technology(iCT)?
(v)  What is meant by the terms Word Processing and Data Managing? %;..;F/QVL wMJ_,G‘” “ley J«uw (v)

(vi)  What is meant by the term Radioactivity? ?.»,)r/Lfa,z,va:Ju r" ks (vi)

(vii) Describe two uses of Radio isotopes in Medicine. _é;..!::r_'-/G»LJ._/JWlJJ’ g/‘_f o Tk, (vii)

(viii) What are two common radiation hazards? eI Brenl JHIL,  (vill)
' SECTION-lI e

NOTE: Attempt any two questions. 18 =9 x 2 -E el e Wrne (3 o

5.(A) Define Simple Harmonic Motion and 4 _Feslhe JESNe putditng oy ASdrtr & (-8

explain it with example of ball and bow! system. )
5 S, o ST F e ta LS A SIS BL ey 20 om s P (L)
(B) An object and its image in a concave mirror are of the same height, yet inverted, when the
object is 20 cm from the mirror.  What is the focal iength of the mirror?
6.(A) How can you differentiate 4 i Aol ‘?ugé)::ﬂrd:wyuéu%)w}%m (emf) J;?i;f‘;}?@T ()-8
between electromotive force (emf) and potential difference? Explain. )
5 et iund L8l 01 m Zper co 0.8 N UASE S Ealend Zie iy i (&)
(B) The force of repulsion between two identical positive charges is 0.8 N, when the charges are 0.1 m apart.
Find the value of each charge.
7.(A) What is Cathode-Ray Oscilloscope? 4 Sl g‘k‘;{_af:i_f,w ?%g@gﬂ:w@/ﬁ*f (W7
Explain the working of different components of it.
5 KoL L 118 €5 aS 14k e b 5730 IS 14k ()
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TIME ALLOWED: 15 Minutes OBJECTIVE 033/’.47 15 = 2

MAXIMUM MARKS: 12 12= AF
S o L SN 535 QL 2 S i S Ui lsi el Mg 632 L& D 4 C B A ezl e

I E VL ..b'z_yl,)u:'j'.;éf‘j:uf{ﬁ_ﬁi J(),}“: -b’x;r".w?f_z.uﬁgﬂ.;wy’d/L.fi Jo¥ L L./.afu:}m;&):-«-{' )
Note: You have four choices for each objective type question as A, B, C and D. The choice -u_').’;d’:),’qaﬂv
which you think is correct, fill that hubble in front of that question number. On bubble sheet, use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
1 T . 5 N " ’ & P J’J’f L » s K rf - f) /|
(1) The time period of vibrating mass spring system, when its gl U\ (37741 S TV (1
mass become doubled:-

(A) Remain same fz.l¢f (B) Become half §ibxinsT (C)Increased §2ts (D) Decreased s’u,mﬁ'

(2) The speed of Sound is greater in:- A ekl (@
(A) Water 31 (B) Air I (C) Metal, J* (D) Vacuum ¢iks
e ok g e Fyi&a0em c/'? il nem e AEAL ¢
(3) An object is placed at a distance 30 cm from a concave lehs. Its - pig/at 10 cm from lens.

The magpnification of lens is:-
<O
OPA (8) 3 @O@ (D) 15

(4) The magnifying power of simple microsc0p€\\'{;5 i f}mgi’ GJ?J?P:EL»:V {
I
Lo L 7> 1-4 o) 1+%

® 7 ® % . 5F
(5) The correct relation for C ?orce is:- e -?_J-aw .':/JJ:_J.[.W;’..,JI
() F= ®F=x12  © S L F=giR
(6) If 0.5C charge pass through a wirein 10's, -q_yz.,/,u/'f . uf/t?g.t‘/?i/f 10s {4k 05C u:';t.{l/'fi
then ____ will be the value of current flowing through the wire.
(A)0.05A (B)0.5A (C)5A (D)20A
(7) 1fwe doubled the length of mettalic wire while -Jnu}bgfu’l}'umj ;;Jrf/_/»,?.q 3/ w’:fégJJth b (/'
other factors remain same, then its resistance will be:- .
(A) Half (37 - (B) Doubled &0 (C) Quadruple (#; (D) Remain same AP
(8) _____partof D.C. motor reverses -9?/;}_’4’:(#9{& d'h‘étﬂj‘ﬁ&fb&ﬂﬁy I o

the direction of current flowing the coil every half cycle.
(A) The commutator }f/ (B) The brushes +,  (C)Slipsrings ,(j_{(, (D) The armature ,{ s .
(9) Ifametalis heated to high temperature, it emits the particles:- -ugz.,:@L;u?/g?q/(&wv;»»&f&_éﬁ

(A) Protons ﬁ:{ (B) Neutrons /% (C) Electrons /%! (D) Positive ions 7”7,’:)';
(10) Which of the gate is used to convert one logic level into -.;;.tﬁ,,tiui LI I L{‘J b
opposite logic level? (A) NOT gate J¢t

(B) AND gate &% (C)OR gate 77 (D) Both AND and OR gate Ui L)
< AL e i

(C) Large data il (D) Processed data Eidsy

et L 131 vl

(11) In Computer Terminology, Information means.-
(A)Any data &3S%/ (B) Raw data L7
(12) The Isotopes of lodine 131 is used in the treatment of:-

(A) Blood Cancer /-( [l (B) Bone Cancer /'%/Kug y )
(C) Lungs Cancer A ¥Unsts (D) Thyroid Cancer 0%

18(Obj)( W )-2019(A)-58000 (MULTAN)
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SUBJECTIVE /¥l.»
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—

MAXIMUM MARKS: 48

NOTE: - Write same question number

2- Attempt any five parts.

(i)
(i)
(iii)
(iv)
W)
(vi)
(vii)

(viii)

3- Attempt any five parts.

(i)
(if)
(iii)
(iv)
W)
(vi)
(i)

(wviii)

4- Attempt any five parts.

(i)
(i)
(iii)

()
(v)
(vi)
(vii)
(viii)

NOTE: - Attempt any two questions.

5.(A)

(8)

6.(A)

(B)

7.(A)

(B)

AF

48

R TN e XA SRV IR

and its part number on answer book, as given in the question paper.
SECTION-l Jsl.®

State Hooke's Law and write its equation.

How time period of a Simple Pendulum can be determined?
What is Reciprocal of Time Period? Define it.

What is meant by SONAR?

Which equation is used to find the Speed of Sound?

What is the difference between Generator and Motor?

What is Transformer? Write its types.

What is the function of Split Rings in a D.C motor?
10=2x5
Differentiate between Angle of Incident and Angle of Reflection.
What is the Refractive Index of Ice and Water?

Define the terms Resolving Power and Magnifying Power.
What is meant by Fax Machine?

What is meant by the term "Word Processing” and "Data Managing"

0@%

Write names of four input devices of Computer.
Write two characteristics of Beta Radiation.
What is meant by Artificial Radioactivity?
=2x5

Define Fixed Capacitor. Give one examp @
Write two uses of Capacitors.
What is meant by Capacitance ;ﬁn or?
Define unit of Capacitan
Define Electromotive
What is Voltmet
Define Ohm.
What is OR gate? Write its Truth Table.
Write two uses of Logic gates.

10=2x5

Al A

E e linbiedd 240y
eSS E e ITEL ()
e tep it (i)
S eV bysKiaft i)
?4"_:‘/[:(;,1:7’ (iv)

' Qe gl LLSP it )
S OISz (Vi)

S e (vl

Se K EF A rsSs  (vil)
-é{f&&'@é’}?‘ég;d[ 2340y
It AT A 6
e YA Sse (i)
-q/u:i-’/'"&,gjwémgf,‘sz/ (iii)

<i et Ut (W)
?q.:'/l_fcf W’Jﬁ&iu‘.ﬁ.’:{b: (v)

a (tLouT/gL.:;u!J/',g" (vi)
bl i)

StV A4 IR0 (i)
-g.fj/l-,glzélmégc,d/ 44

- de’u"/j—-’ _e/'Jr.i»:(*‘ 0

U YLy (ii)
AT

S ol e A
s‘_;‘/‘_fr&'u B 4

_E WIS ()
CUH ()

A i)
A e LT (il
el S (i)

SECTION-II (2352

18=9x2

_é{(f:&&'ﬁé;«ﬂb’»a&[ wiked

What is meant by Nearsightedness and 4 fe- ":Clglf‘:ui//’u(([;fjﬁ;u’ ?‘L.ﬂ/k_fc:_d};{-_’-’/ﬁ'd}’;/.j- (-5
Farsightedness? How can these defects be corrected?
5 8gm = g% A ?difgéw,;ig&)ﬁgdf ‘.‘Jn'\_f‘/‘jygufj(,(gﬂ .28 éﬁ-(/'%?‘)i:;uv (s
go =10ms 2 2

The time period of a simple pendulum is 2 s. What will be its length on the earth? What will be its length

onthe moon? If g, =&/ where g, = 10ms™

Discuss the main features of series combination of resistors.

5 «é‘;(fr"’/'ﬁu( Z-M_:"-'fi-m"{-‘—.i;/zd/'/f % 50 V u’if‘id”éuwﬁ u"-l Ju"/ﬁ - 100p F W :J-%u*ﬁ»{'
If the potential difference between its plates is

The capacitance of a parallel plate capacitor is 100uF.
50 volts, find the quantity of charge stored on each plate.

4 ?c"_t"{;'l_ac;ﬂ;:g_ d/,'fc_igu@g‘r/lif4_’JM?J/‘Q‘(:U.{{(&IJ}}/"?‘?%/Q/@? u:c,ud/["'/zm:l/.{'

4 _éuyoyf;(:'dii/'izis_iﬁc.%.}"{,{ (.6

(-7

Describe using simple diagrams what happens when a narrow beam of elections passes through uniform

electric field and uniform magnetic field?

5 s*bfmm::’,vfé'_[.é,wﬁf L s 14K e Jb 5730 SIS 1408 (&)

-

Carbon-14 has a half life of 5730 years. How long it will take for the quantity of Carbon-14 in a sample to

drop to one-eighth of the initial quantity.

18-2019(A)-58000 (MULTAN)
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(24P PR A0 -] S SPA St S Re i Szt Si G S\ i Pimslie KT -
Note: You have four choices for each objective type question as A, B, C and D. The choice -‘,{X;J’:J;;_-, Uy
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result In zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. .
Q.No.1 A Ay
(1) The out put of NAND gate is O when:- Blnpecesifelie (NAND) (1)
(A) A=0, B=0 (B) A=1, B=1 (C) A=1, B=0 (D) A=0, B=1
(2) In Computer Terminology, Information means:- -4_-.,,M¢ﬁ,w'u &)lz}/‘,;;f (2)
(A) Any data L‘;io"éf (B) RAW data kil (C) Processed data :4 (D) Large data 3l
(3) One of the isotopes of Uranium is 338U/ -.;.:LJ‘J' LI e By .,,i,»’?_gvg‘e,g (3)
The number of Neutrons in this isotope is:- o @O
(A) 92 (B) 146 @ ) 238 (D) 330
(4) The relation between v , f and A ofawav s Jguyuf.p‘@mlﬁ;f} Skl (@)
A
(A) vy =2 (B) Ay =R O (C)vh=f D) w=—
O f
(5) Speed of sound at 25°C i ss is - eIy 25°C LU (5)
(A) 5950 m/s ) 6040 m/s (C) 5960 m/s (D) 3980 m/s
(6) Refractive Index of Air s:- e tnEE e (6)
(A) 1.36 (B) 1.00 (C)1.31 (D) 1.33
(7) The Index of Refraction depends on:- - Dot ;uflb’uig}'/...ifﬂl {7)
(A) The focal length ¢ 5% (B) The speed of light £ (>
(C) The image distance 4.’%55' (D) The object distance 4.1/55.,/-
(8) The equation of Electric Field Intensity is:- -:"...:,L'L«‘d/ u""w.f/dr ®)
E F
(A)E=g£- (B) ‘loz“f (C)F:E D) E=~—
F 0 qo
(9) Specific resistance of Graphite is:- ..q.&n u't"’/,..@{g(w W_/ (9)
(A)3500 x 10-8Qm  (B) 100 x 107°Qm ©) 98x1078Qm  (D)10.6x107°Qm
(10) The power of small fan is:- e lnnl$ELA (10
(A) 100 watts (B) 750 watts {C) 50 watts (D) 10 watts
(1) part of a D.C. motor -;_q,/‘)_;;!y‘!.y/u,g,;.‘;J?&Lfva)fﬁy £y DC. (1)
reverses the direction of current through the coil after every energy half-cycle.
(A) The armature £ (B) The commutator /& (C) The brushes ¢ (D) The slip rings A
(12) If X = 4-B, thenX is1when: Sdns 1 X Jx=4B/ (12
(A) A=1, B=1 (B) A=0, B=0 (C)y A=0, B=1 (D) A=1, B=0

20(0bj)( 77X 7X)-2019(A)-36000 (MULTAN)
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TIME ALLOWED: 1.45 Hours SUBJECTIVE /&2 #1145 = =
MAXIMUM MARKS: 48 48 = A
NOTE: - Write same question number -;.Zwui'g_g._;lr.ﬁ?,,é GJ;AZ/;WJI,’@;{Q&}M o

and its part number on answer book, as given in the question paper.

SECTION-l Jil.e

2- Attempt any five parts. 10=2x5 -&(/f._«l,!fﬁiﬂélc,df -2/le
(i)  Electromagnetic waves do not require any Ea S dnfen Al d Cartil ,,5,,,__@6 9 0)
medium for their propagation. Why? Give reason.
(i)  What do you know about "Ripple Tank"? S bW T .,A[..Cq_b (i)
(iii)  How does crest and trough are produced in a water wave? Ut g .;)Ai_//vtgs.f J dL (i)
(iv)  What is the relation between Frequency and Pitch? Y:-—uw VALE oy :( (iv)
(v)  Write two uses of Ultrasound in Medical field. & fe vww&iiwf'vuhw_ (J);ﬁy )
(vi)  How the direction of magnetic lines field are determined q.t‘blfé o Kv’()/ﬂbuu@’?d:/rlb/u/__# (vi)
in current caring straight wire? p
(vii) Write down two ways to increase the magnetic force. -4U2_. )uéi..u/fuu"..@k‘ (vii)
(viii) What is the function of "Relay"? SebY LAV i (vm)
3- Attempt any five parts. 10=2x5 -é//.au.?[_métc,df -3/J!r
()  State the Laws of Reflection of Light. L ILILS ()
(i)  Define Power of Lens and write its unit. <& _,gs’uwc, - /’J /J..;«/:L (i)
(i)  How Farsightedness defect can be corrected? ?gccuw,,c’/fégfn (iii)
(iv)  What is meant by Cell Phone? @ fe s odf (iv)
(v)  Write down two advantages of E-mail. <é/ @u»& JoS (v
(vi)  Define Super Computer. 0 J/"U//_.,. v {vi)
(vii) How can you define Natural Radioactivity? o @ Sl nJu;,f igiaLE  (vii)
(viiiy What is meant by Cosmic Radiations? 94.:'/{4_ FUSL LK (viii)
4- Attempt any five parts. @ 2x5 -‘{/;.,wéméua.&f Wy ale
(i)  Define Electrostatic Induction. % - ..»‘/‘Ugfi'.@':;ai ()
(i) Define Electric Potential and also wi unit. - f’of "2y S.) B f/:.é' )’JJ"‘?J/O' (i)
(i)  Whatis meant by Capacitance @acnmﬁ Sl ey s s ?c.:i/t/a, T, J i)

Also define its S.1 unit.

(iv)  Write a short note on C al Current. . 40 -—”""}—I/ S v

(v)  How Potential differ oss a -u_f’hu‘fﬂ/@ls te L S B P ohi( /u).t.—&fo Lisy (v
circuit compon e measured? Draw a diagram also.

(vi)  What is the differerice between Ohmic and Non-Ohmic material? 469‘( i S GRS K adtadan  (vi)
Give examples also,

(vi) Whatis the difference between Analogue and Digital Electronics? - <47Ute e GAAS DI LIS (il
Give examples also.

(viii) Draw a symbol of NOT gate and also write its Truth Table. -q‘/‘://:)f:ia;‘fw»wf 'b..-/w&'/f <6 (NOT)  (viii)

SECTION-II (194>

NOTE: - Attempt any two questions. 18=9x2 el et 3 LS
5.(A) What is Total Internal Reflection? 4 S oo i s ‘.'c‘._.vl/ga.;_y}gfui’-'kji (£
Explain with Ray diagram.
5 sin=3S g LSip o 495 Lathi e tbd gt - 099m SUS Rl (L)
(B) A pendulum of length 0.99 m is taken to the moon by an astronut. The period of the pendulum is 4.9 s.
What is the value of "g" on the surface of the Moon?

6.(A) Determine the equivalent resistance of 4 e r,“’J"’J;(SsL/JJ/'JJzZ:..ch.é;_)J’!,& ()€
parallel combination of resistors.
5 -‘LEJS,O 1.6x107%¢ {(_1@1&,‘_‘/} 15.,(,65&,:,51!00 pC Z//loﬁl ‘J};?/?{J’b{.'g{ ).

(B) The charge of how many negatively charged particles would be equal to 100pC .
Assume charge on one negative particle is 1.6 x 107'7¢C .
7.(A) What is NAND gate? Draw its symbol and write its truth table. 4 -/ L—J‘”Jwﬂ./u:(fu’l ! y(J Z% (NAND) (9.7
o QLI 23 Lo SIAS S L FE P e 32LIK 368 Lo S0 e 10 ..uu..,;J.,»c‘v,f it (&)
(B) Half life of a radioactive element is 10 minutes. |f the initial count rate is 368 count per minute, 5 -Z-bx
find the time by which count rate reaches 23 counts per minutes.

20-2019(A)-36000 (MULTAN)
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA

(1) A current of 3 A passes through 6 Q resistor then /.,J.Jd,;?_bf&/n AcretuleQ L (1)
voltage across this resistor will be:

W é’ AL
W 2V B) 9V (C) 18V (D) 36V
(2) 1 milliampere is equal to : R sl @)
) 10° A ®) 107 A ©10°A @) 10° A

(3)  If the current in a wire which is placed perpendiculartoa .5y |, datidnd bt B el i O
tic field i ; tic fi the wire: :
magnetic field increases, magnetic force on the wire PN T,

(a) Will Increase J2.%  (8) Will Decrease s (C) Will remain the same dxnu?cks (D) Will be zero S

) From the give figure logical operation _{_t.;u:,_)f o .ﬁ et Pdies @
is performed by this gate. 7
K ©
X
- <
(A) AND (B) NOR 4 @C) NAND % (©) OR 7
) is the most suitable mean of reliab uous g‘.‘ﬁé‘ Lo dpnEfimeier  (5)
communication between an orbiting Satelli . o
O &
(A) Microwaves s9s#. (B) Radio Tps2%s (C) Sound waves jys25L (D) Any light wave ez (s
() The brain of any computer s - kP Il S )
(A) Monitor £y Memory (§.+< © CPU. 5 (D) Control Unit.sys 2~
(7) When a heavy nucleus splits into two lighter ety et ﬁJ" ufé?’z‘ L::’»u-’-“ 2otz (D

nuclei, then process would: .
(A) Release nuclear energy St B¢ (B) Absorb nuclear energy i i G ¢

(C) Release Chemical energy e ig ks (D) Absorb Chemical energy Jn..,ig&/'uﬂ‘f

(8) The relation between V,fand A of a wave is givenby: . q_b.,?&&y sl B pmgh i S St (®

@) Vi=4a B) fA=V ©C€) Va=f D) v=i/f
(9) Sound is form of energy : Ay e ()
(A) Electrical £  (8) Mechanical £ () Thermal J.2 (D) Chemical J<
(10) type of image is formed by convex lens on a screen. ) ‘_mg,g‘,ﬁ 4 RS G0
(a) Inverted and real .1 () Inverted and virtual Jg()
(C)  Upright and real (K. (4 (D) Upright and virtual J s 4
(11) The refractive index of water is :Q_JE;,;{/’J@& (11
(A) 133 (B) 1.02 (©) 1.31 (D) 1.52
(12) The value of K in Coulomb’s Law is: e e dfREUR LA (12)
(a) 9x10°Nm’*C? B) 9x10°Nm?C? (C) 9x10°Nm?C*? (D) 9x 10° Nm? C?
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NOTE: - Write same question number - LS IREE Z-JJ:/,;SZ»I/?JVG:{QVQB -y

and its part number on answer book, as given in the question paper.
SECTION-l sl

2- Attempt any five parts. 10=2x5 -Efezlinbie S 240

() What is meant by damped oscillations? "c.:l/y’c. /‘lo’,fw (i)

(i) Find the time period of a simple pendulum 1.0 m long at g= 10 ms 2};{(}”) ,44(’06’,);»' uw:le/ i (i)
a location where g=10 ms”

(i) What is the difference between the intensity and ?;_J}L_,@yuéufﬁ UJJ'LMJ;”L’ (iif)

loudness of sound?

(iv) Calculate the frequency of a sound wave of speed 340 2 05m 3@ 131 340 ms'1 iy ,‘cib,‘ﬁ.ér#‘u”’f )Jg,}:iv (iv)
ms™! and wavelength 0.5 m,

(v) How is ultrasound used to locate underwater depths or ?4_1;-%64’% (L;‘d"i-‘?ﬁjk u:,("&,.;rgél/f J,pr‘c,u&:fwﬂ! (v)
is used for locating object lying deep on the ocean floor?

(vi) What is meant by the term e.m.f.? el e (emfusis 2 (vi)
(vii) In a circuit 2 ohm, 3 ochm and 6 ohm resistances are 4 Lo Vire )Jl,cf,_f’?{‘;ls,mﬁ,l 3efinl 2082 kT (vil)
connected in parallel to a battery of voltage 6. Calculate N St J’/_ & J»Gg
the equivalent resistance of the circuit.
(viii) Describe Joule's Law and write its equation. Juf;v&f luldfu_t;u:’b wi (viiiy

3- Attempt any five parts. 10=2x5 @0 -é;/..wé:?ié edf -3/dlr
(i)  State Laws of Reflection of light. % = kel UL JJJ» 0]
(i)  Differentiate between concave mirror and convex mirror. @ - Ul(d/\.):// "YC"// & (i)
(i) Define powr of lenses and write its unit. % wif /{f.—ug(‘,f sl ) ...d/’d/: ...JLut (i)
(iv)  What is meant by electric field lines? St AW ()
(v)  What is the difference between fixed capacitor an v@e capacitor? %q—d/‘fd' }‘"0"‘6{’”')’/ v)
(vi)  What is the difference between data and info © | ) SIS (Vi)
(vii)  Differentiate between primary memory a dary memory. LML S dlkal”dlf Ay (vii)

(viii) Define data managing S (vii)
4- Attempt any five parts. 10=2x5 E fe2 L gc.éf -4/J'r
()  Define Electromagnetism, i J ey (')
(i)  State principle of A.C. Generator. éukdf'b’/ A, C (i
(i) ~ What is meant by thermionic emission? fe e -"’.fr‘/ (‘m)
(iv)  What is Electron Gun? jé—ud{)’/g (iv)
(v)  Write the names of Logic operations. {( tﬁﬁ/u U (‘{)
(vi)  Define Half Life. -EAShs, )
(vii) What is meant by Carbon Dating? ) fesipy Ve B3k (V")
(viii)  Define penetrating power of Radition f JJJ‘W&'/U"UJ =1L, (vili)
SECTION-l (ase
NOTE: - Attempt any two questions. -s’.‘—/{/’uwéwﬂ‘”’é—gf -
5.(A) What is wave velocity? Derive it. wkd /Arlal? :l/L/c-u’ Uags (D5
(B) The power of a convex lens is 5 D, At what distance Jr/ ,JJJ ‘.lbe{JdGZf() = )J...q.SDAQJ)JJr /J (o)
the object should be placed from the lens so that its ?xﬂﬁfdkw”cdv

real and two times larger image is formed?

6.(A) Explain Coulomb's law of electrostatics. Also write 4 -J‘;‘P‘jvfu’ﬁ.ﬁ{u&ufwiﬂ&u’@;}gléy)/ (.6

its mathematical form.

(B) Ifacurrentof 0.5 A passes through a bulb connected  0,5A 44620 _{_Ml?]&ﬁd}ﬂf 6v SZe Ll (L)
across a battery of 6 V for 20 seconds. Find the rate J“JJ‘! - #f% ;&; it LM&P&—JI-{—VV i)
it

of energy transferred to the bulb. Also find the

resistance of the bulb. f:
7.(A) Whatis an electronic mail? Write its three 4 _Jy’ligtéulfq.kfg}-’.ﬁ/gl (N7
advantages. e
(B) Define nuclear fusion. Also explain it in detail, 5 -QI‘)‘&D}JMM)&-QIJ}J@EH.& (.,)
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SECTION-1 sl .2

2. Attempt any five parts. 10=2x5 -é/,,/’.:f!.!:?ﬁizlékc—é/&/dlr
(i) Define amplitude. S E O
(ii) What is meant by electromagnetic waves? O A s s A Gi)
(iii) What is meant by loudness? S e Gid)
(iv)) What is meant by noise? Sest st (i)
. (v) Define intensity of sound. EPEE e W
(vi) State Ohm’s law. Also write its formula. TNy 20 P R 7))
(vii) Define resistance. Also write its unit. AL g Ao (i)
(viii) Define Electric Power. ST Giii)
3. Attempt any five parts. 10=2x5 i Fanlizbie $ 3 A0y
(i) What is meant by regular reflection? fesl e s Y )
(ii) Define Principal axis. EaPSAK L G
(iii) What is endoscope? ek (Gid)
(iv) Define electric field. _ESSSWIE W)
(v) What is meant by capacitance? @Q St o " ﬁ{ )
(vi) What is meant by hardware? S Sesl e rmih (V)
(vii) What is meant by flow of information? & %% St P ¥ (vii)
(viii) " What is a fax machine? @% ?g_ankf g Jg (viii)
4. Attempt any five parts. 10 -g‘f.-:/‘, ; :«@lzﬁlZlékcé:‘/ ..4/ dlr
(i) What is meant by solenoid? Ses ity ()
(i) What is meant by relay? <& Sei e d s (i)
(iii) What is meant by thermionic e ? Sl . cu"-":l.f::‘ Z Gii)
(iv) Differentiate between ana d digital electronics. A PSS )
(v) Draw circuit diagram of OR gate. -z._b.ﬂfgs_'/ deforR W)
(vi) What is meant by isotopes of an element? et pl e ATl (i)
(vii) Write two characteristics of Gama rays. oo 5§y Gid)
(viii) Define penetrating power. Ew P M BIG (i)
SECTION -II r”,-"
NOTE: ~ Attempt any two questions. abe x4 Yy ez letyne S e
*5. (a) Derive wave equation. 4) &by ()25

(b) An object and its image in a concave mirror are
of the same height, yet inverted, when the object

is 20 cm from the mirror. What is the focal
length of the mirror?
6. (a) Explain any two hazards of static electricity.

) The resistance of a conductor wire is 10 MQ. If
a potential difference of 100 volt is applied across

its ends, then find the value of current passing
through it in mA.

7. (a) How light signals are sent through optical fibre?

(b) Ashes from a campfire deep in a cave show carbon-
14 activity of only one-eighth the activity of fresh
wood. How long ago was that campfire made?

NIt =+ =1 8

Jf"ée’nd’éuiﬁam_uzo em el (&)
) -5{(}”n“‘éf‘){}JJ/-q_dJlgi;.c‘;,/J/.Z:Jg’)l

(4) -;[/.")L&:Jol)’l»c-éféd)“/’giu@ (-6
EIHL Sioe 10M QU1 2L (L)

eSS e ET b ) SR 100V

&) S L

* 2 Lo s L AT ery ()T
Ll 259814~ M Ashes) SLS gt ot (&)

(5) -géd.'?(/gfﬁ/_q_l/&ﬁé&"
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